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7/1/2017

The chart shows the average daily minimum and maximum levels of air pollutants in 4 cities 2000.
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Sample answer

The given bar chart presents the daily minimum and maximum levels of SO2 and N20O which caused
pollution in 4 different cities (Los Angeles, Calcutta, Beijing and Mexico City) in the year 2000. Overall,

Mexico City was by far the most contaminated by the two mentioned pollutants among the four cities.

In Los Angeles, the quantity of SO2 emitted into the atmosphere was the lowest of all cities, with a
minimum average of 2 micro-grams per m* and a maximum average five times as much, at 10 micro-
grams. The levels of N20 emissions were much higher with the maximum daily average level reaching
up to more than 100 micro-grams per m3. Meanwhile, the atmosphere in Mexico City was severely
polluted by SO2 and N20 emissions with the daily minimum and maximum averages of 80 and 113

micro-grams per m? respectively.

In contrast to Los Angeles and Mexico City, the amount of pollution caused by N20O in Calcutta and
Beijing was less than that caused by SO2. The daily average maximum figures for SO2 emissions were
59 micro-grams per m? in Calcutta and 130 micro-grams per m? in Beijing while the average maximum

figures for N20 were just over 50 micro-grams per m? in both cities.
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Topic: Some universities offer online courses as an alternative to classes delivered on campus.

Do you think this is a positive or negative development?

Sample answer

In many universities, distance learning through an online platform is provided for students as an option
to replace traditional classrooms. In my view, although such a development could be detrimental in a

number of ways, overall, | believe it to be an essential step forward.

On the one hand, this method of remote learning, without the need for regular face-to-face contact
with teachers in a classroom, is negative for two reasons. Firstly, students who study online do not
develop comprehensively in the way that other students who attend classes at school do. During online
courses, it is difficult for students to make friends or attempt to compete with their peers. This is often
linked to the fact that those learners seem to undervalue the significance of interaction and rivalry with
classmates in an educational environment, which are actually regarded as great stimuli for scholastic
success. Secondly, participants of online learning programs have a tendency to procrastinate more and
poorly allocate an appropriate amount of time to complete assignments. This form of studying
requires tremendous self-discipline as well as excellent organization and time management skills as
students usually struggle with balancing their coursework with other priorities, and quickly become

unmotivated without direct guidance from instructors.

On the other hand, online learning is proving to be a great alternative, although traditional universities
are still widely considered as the best way to acquire knowledge and a qualification. Access to all
resources within a traditional course is offered, which empowers learners to freely choose from a wide
range of different subjects, from science to economics. Furthermore, lower costs and the widespread
presence of the Internet allow unlimited numbers of participants, regardless of not only their financial
background but also current living location. For example, Coursera is a website that offers a variety of
courses at reasonable prices and presents valid certification for participants upon completion of each

course.

In conclusion, though there are some drawbacks to studying via online courses, | do believe that this

method is a revolutionary step in contemporary tertiary education systems.

(335 words)
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Vocabulary highlights:

1. Regular face-to-face contact with teachers in a classroom: tuong téc truc ti€p vdi gido vién trén
1&p

2. The significance of interaction and rivalry with classmates in an educational environment: y
nghia quan trong cla sy twong tac va canh tranh va&i ban cung |&p trong moi truong gido duc

3. Tremendous self-discipline as well as excellent organization and time management skills: tinh
ky luat cao cling véi K ndng kiém sodt thoi gian va sdp x&p cong viéc hidu qua

4. Access to all resources within a traditional course: C6 thé truy cip tat cd cac ngudn kién thirc
trong mot khda hoc truyén théng

5. Lower costs and the widespread presence of the Internet: gia ré va sy xuat hién khap noi cta

Internet
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The chart shows the proportion of renewable energy in total energy supply in 4 countries from 1997

to 2010.

Australia Sweden Iceland Turkey

m 1997 wm 2000 =2010

Sample answer

The given bar chart presents data about the percentages of renewable energy with regards to the total
energy production in four different countries (Australia, Sweden, Iceland and Turkey) in three years;

1997, 2000 and 2010.

Overall, Sweden and Iceland witnessed an upward trend in the use of renewable energy sources in the
three examined years. It can also be seen that among the four countries, this type of energy was most

popular in Iceland.

In 1997, almost half of the total energy produced in Iceland came from renewable resources. This figure
continued to climb steadily to 60% in 2000 and more than 70% in 2010. Meanwhile, in 1997, only
approximately 5% of the entire amount of energy produced was generated from natural resources in
Sweden, who experienced a similar trend to that of Iceland in regards to proportion of renewable

energy produced.

Regarding Australia, nearly 10% of the energy supply was from renewable resources in 1997, and this
figure decreased slightly to around 5% in 2010. Similarly, the percentage of renewable energy used in
Turkey experienced a decline over the years from approximately 37% in 1997 down to just under 35% in

2010.
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Topic: It is neither possible nor useful for a country to provide university places for a high proportion

of young people.

To what extent do you agree or disagree?

Sample answer

There has been a difference of opinions regarding the accessibility of tertiary education to the majority
of young people. In my view, dispensing university educational services on such a large scale brings

about no practical values to society, and in addition, is rather unfeasible to carry out.

Firstly, widespread entry into university does not seem really useful to a country since it is necessary for
the government to take the needs of both the youth and the economy into consideration. In many
countries, especially Germany, vocational training has gained more popularity among young people
because it enhances employment opportunities as well as job security upon completion. Furthermore,
if everyone could gain admittance to college, it would lead to imbalances in the workforce that would
greatly damage the economic structure of a country. This is because there is little chance that university
graduates would choose blue-collar jobs such as working in factories, over the jobs that they are

qualified for.

Secondly, | think that it is impossible to provide almost all young people with access to tertiary
education. In Vietnam, the demand for entering college never ceases to grow. This puts the government
in a dilemma of whether they should risk allocating their resources and therefore face the possibility of
bankruptcy due to exorbitant education costs in many financially independent universities, such as the
Foreign Trade University or the National Economics University. Furthermore, it is simply unrealistic for
universities to accommodate such a sudden increase in the number of students on campus, not to

mention the fact that most departments are currently short-staffed.

In conclusion, | strongly oppose the idea of supplying entry to a high proportion of young people owing

to the arguments presented above.
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Vocabulary highlights:

1. Dispensing university educational services on such a large scale: phan phat dich vu gido duc &
quy mo I&n nhu vay

2. Enhance employment opportunities as well as job security: gia tang co héi viéc lam cling nhuw
bao hiém nghé nghiép

3. Imbalances in the workforce: nhitng bat can bang trong lyc luong lao ddng

4. Exorbitant education costs: chi phi gido duc qua dat do

5. Financially independent university: dai hoc doc lap tai chinh
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14/1/2017

The charts show the sources of electricity produced in 4 countries between 2003 and 2008. Summarise

the information by selecting and reporting the main features, and make comparisons where relevant.

INDIA SWEDEN

M Fossil fuel
B Hydro power

B Nuclear power

MOROCCO VIETNAM
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Sample answer

The given pie charts detail information about the proportion of three different sources of electricity in

four countries (India, Sweden, Morocco and Vietnam) from 2003 to 2008.

Overall, Vietnam and Morocco did not use any nuclear power for electricity production. It can also be
seen that while fossil fuels were the largest source of electricity supply in Vietnam and India, they only

occupied a relatively marginal proportion in Morocco and Sweden during the examined years.

In Vietnam, 56% of the total amount of electricity was produced from fossil fuels, while the figure for
Morocco was only 5%. The rest of the electricity, in both nations, was produced solely from hydro

power.

In India however, electricity from fossil fuels contributed to 82% of the entire quantity of
electricity produced, which was also the highest figure for fossil fuel use among the four countries.
Meanwhile, fossil fuels were only responsible for 4% of the total generated electricity in Sweden, with

hydro power and nuclear power contributing 52% and 44% respectively.
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Topic: In schools and universities, girls tend to choose arts while boys like science.

What are the reasons for this trend and do you think this tendency should be changed?

Sample answer

There has been a marked difference in subject preferences between girls, who often enroll in art based
courses, and boys, who have a tendency to study some form of science. There are a number of elements

that may cause this issue, and | personally feel that it is best not to apply any changes to this tendency.

The aforementioned situation can be attributed to gender-specific personalities and competence.
Firstly, female students are usually attracted to subjects that require tremendous self-discipline and
patience such as language classes while male students share a common interest in several fields that
need considerable analytical abilities to excel at, for example math or physics. Secondly, it has been
proven that each of the two sexes shows distinct competence and excellence in their favored subjects.
In general, most students prefer to choose classes that they are best at, which is why boys and girls

choose different courses to study.

In my view, it is rather unnecessary to make changes to this trend. Initially, students choose the
environment where they can best cultivate their skills and abilities. Therefore, if they were forced to
take part in unwanted classes, it would produce undesirable outcomes, especially resentment or
negative attitudes toward study at school. Furthermore, students, regardless of gender, should have
their freedom to choose. In other words, they should be at liberty to decide what courses they can

attend so that they will feel that they are respected and listened to.

In conclusion, distinct characteristics and differing levels of competence between males and females are
the main causes for the tendency toward choosing particular courses to study at schools and

universities, and | believe that students should be entitled to participate in any class they desire.
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Vocabulary highlights:

1. Gender-specific personalities and competence: nang Iuc va tinh cach dac trung theo gidi tinh

2. Considerable analytical abilities: kha ndng phéan tich cao

3. Show distinct competence and excellence: cé nhitrng ning lwc va sy xuat sic khac nhau

4. Cultivate their skills and abilities: nang cao ky nang va kha nang

5. Resentment or negative attitude toward study at school: sy han hoc va thai do tiéu cyc voi
viéc hoc & truong

6. To be entitled to participate in any class they desire: c6 quyén tham gia bat ki mén hoc nao ma

ho muén
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21/1/2017

1980 1990

SWEDEN

m employed
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Sample answer

The given pie charts detail the proportion of Australian secondary school graduates who were

unemployed, employed or pursuing further education, in 1980, 1990, and 2000.

Overall, from 1980 to 2000, the proportion of Australian students who were employed grew, while there
was a decline in both the proportion of those pursuing higher levels of education and those who were

unemployed.

In 1980, half of the Australian secondary school leavers chose to continue their education. After a 10-
year period, this number dropped to only 38% and remained almost unchanged in 2000. Meanwhile, the
figures for those who were unemployment were the smallest, at only 10% in 1980, 12% in 1990, and

finally dropping back down to 8% in 2000.

On the other hand, over the years Australia saw an increase in the percentage of students who received
a job after graduation from secondary school, from 40% in 1980 to 55% in 2000, which was the largest

figure among all examined categories.
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Topic: Nowadays young people spend too much of their free time in shopping malls. Some people fear

that this may have negative effects on young people and the society they live in.

To what extent do you agree or disagree?

Sample answer

As countries and cities become more and more developed, the occurrence of large shopping malls is on
the rise and due to factors such as advertising and boredom, young people are being lured into
shopping malls where they are aimlessly wasting their time and money. Personally, | believe that this

can have a number of detrimental impacts on young people and the society they live in.

Firstly, by spending time in shopping malls, young people are exposing themselves to large amounts of
advertising and products which only drives their desire to purchase and consume more. Young people
will end up feeling that they need to have things that, in reality, they don’t, and this can create an
unhealthy state of mind, and a consumeristic attitude to life. As a result, the society they live in will
suffer from the many drawbacks of consumerism such as wasted energy and resources, and landfills

full of goods that have been overproduced.

Secondly, not only is spending too much time in shopping malls having a negative impact on the minds
of today’s youth, but it is also having many negative impacts on their physical health. Young people who
spend too much time wandering around shopping malls are missing out on important time that could be
spent outdoors playing sport or participating in other recreational activities. It is well known that those
who spend time outdoors involved in such activities mentioned above will enjoy a much healthier
lifestyle and be less at risk of suffering from a range of common diseases caused by a sedentary

lifestyle, such as obesity and diabetes.

In conclusion, | believe that parents need to spend more time teaching their children about the

importance of spending their free time wisely, and avoiding the pitfalls of a consumeristic lifestyle.
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Vocabulary highlights:

1. To be lured into: bj du d6 lam gi

2. Aimlessly wasting their time and money: vung phi tién bac va thoi gian

3. Exposing themselves to: lam cho chinh ho

4. Drive their desire to purchase and consume more: lam cho ho muén mua va tiéu dung nhiéu
hon

5. A consumeristic attitude: thai do tiéu dung qua da

6. Suffer from the many drawbacks of consumerism: chju nhirng tac hai cGa chd nghia tiéu dung

7. A negative impact on the minds of today’s youth: anh hudng tiéu cuc vao tam ly gidi tré ngay
nay

8. Asendentary lifestyle: 16i s6ng it van dong
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11/2/2017

Food

45
40
35
30
25
20
15
10

W 1998

W 2008

France Germany England

Other goods

45
40
35
30
25
20
15
10

m 1998

m 2008

France Germany England




L1Z1M

Luyén thi IELTS cam két dau ra
Sample answer

The given bar charts indicate the proportion of money that people in France, Germany and England

spent on food and other products in 1998 and 2008.

Overall, it can be seen that all three countries saw significant increases in the proportion of purchases of

both food and other goods over the examined period.

In 1998, approximately 15% and 10% of the money French citizens spent was on foodstuffs and other
goods, respectively. After 10 years, figures for both categories dramatically climbed to 40%. In Germany,
there was a mild increase of 5% of money spent on food, at 25% in 1998, and 30% in 2008. The figures

for money spent on other goods were approximately 5% lower during the same years.

In England however, buyers spent only 10% on food in 1998 and 15% in 2008. Meanwhile, the figures for

money spent on other goods experienced a surge from about 8% in 1998 to 35% in 2008.
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Topic: It is better for college students to live far away from home than live at home with their parents.

Do you agree or disagree?

Sample answer

There has been a topic of debate as to whether it is better for students to live independently away from
their parents whilst studying at university. Although some people agree with this, my firm conviction is

that it depends on the culture of the region where the students are from.

This practice is popular in Western-based societies, like the US or the UK. Independence from parents at
a young age is largely accepted and encouraged, especially when students reach the age of eighteen and
are able to earn a living on their own. A large majority of students seek temporary employment near
their school to earn money or gain valuable work experience, while others will spend time participating
in university clubs and activities on campus. This element, | believe, is closely linked to their further

development and future success.

However, in many Asian countries such as Vietnam, where traditional values of strong family bonds play
a significant role in the lives of the youth and the national ethos, | suspect that it could bring more harm
than good. It is, however, common for family members to live separately when they are pursuing
tertiary education because most universities in Vietnam are located in major or municipal cities.
Students from other provinces have to stay in dormitory accommodation or rent a room off campus in
order to complete their study. | consider this to have a detrimental impact on family relationships

because it can possibly lead to the unfortunate disappearance of the country’s long-standing culture.

In conclusion, | do consider that living close to schools and universities, away from family, is beneficial
for a student’s studies, though it can have a significant negative impact on family relationships

depending on the student’s cultural background.
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Vocabulary highlights:

1. Earn a living on their own: Ty minh kiém séng

2. Earn money or gain valuable work experience: Kiém tién hodc kiém kinh nghiém lam viéc quy
bau

3. Pursue tertiary education: Theo hoc dai hoc

4. The unfortunate disappearance of the country’s long-standing culture: Sy bién mat dang tiéc
cla van héa lau doi cha mét qudc gia

5. Cultural background: Ly lich van héa



L1Z1M

Luyén thi IELTS cam két dau ra

18/2/2017

The table shows the proportion of female and male aged 15 and aged 75 from 1911 to 2001 in the UK.

1991 1961 2011

Total Population

36.070.364 46.196.200 56.065.700
(Millions)
% People aged 15 1,86% 1,48% 1,23%
Females aged 15 335.730 333.900 333.700
Males aged 15 334.241 349.400 354.400
% People aged 75 0,23% 0,55% 0,70%
Females aged 75 47.351 254.900 210.100
Males aged 75 34.012 160.200 181.300

Sample answer

The table gives information about the percentages of males and females at the age of 15 and 75 in the

UK during the years 1911, 1961 and 2011.

Overall, there was a decrease in the proportion of people aged 15, whereas the figures for those aged

75 increased throughout the period. In addition, there were significantly more elderly women than men.

Regarding those aged 15, the number of females experienced an overall downward trend, beginning
with 335,730 in 1911 and finishing with 333,700 in 2011. The opposite was seen for males, as the
number of 15 year-olds increased from 334,241 in 1911 to 354,400 in 2011.

For those aged 75, the female population was significantly larger than the male, and there was a similar
trend between the two genders. Starting at 47,351 females and 34,012 males in 1911, the figures for
females surged to a peak of roughly 255,000 and 160,000 for males in 1961. Following this, the number
of females aged 75 decreased to 210,100 people, while that of their male counterparts continued to rise

to 181,300 in 2011.
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ASK 2,

Topic: Government should invest more money in science education rather than other subjects to

develop the country.

Do you agree or disagree?

Sample answer

It is said that government funding for education should give preference to science-based subjects over
others, in an attempt to help boost a country’s future development and progress. Although an increase
in scientific developments can have many benefits to national progress, this essay disagrees that science

is the primary contributor.

There is no question that the advent of modern science has brought with it a number of improvements
to the way that countries and societies function. For example, increases in electrical and computer
based technologies have led to much more streamlined and efficient workplaces. Computers and
computerized machinery can now do the work of what would have previously been carried out by
humans, allowing greater efficiency and higher productivity output. Another benefit that modern
science has granted is the development of renewable energy. Sources of renewable energy, such as

solar and wind generated power, are beginning to help ease the planet’s reliance on fossil fuels.

That being said, an increase in scientific education and development must not be the main measure of a
country’s progress. It can be seen that the study of many other disciplines of education can also
attribute to a countries progress. Take, for example, the Arts and Humanities. Subjects such as History
and Philosophy have allowed us to gain a better understanding of humanity and can help to gain more
insight into how we can move forward as a race. Other subjects such as the Arts, allow societies and
individuals to express themselves creatively through mediums such as music, film and other art forms. It
can be argued that this can also help to improve the quality of people’s lives and therefore help towards

a countries overall development.

In conclusion, although developments in science have led to many beneficial advantages for most
countries, science alone is not the key contributor to a country’s progress. In my opinion, most countries
would benefit greater from a more well-rounded education, with emphasis on all disciplines, not only

that of science.
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Vocabulary highlights:

1. Boost a country’s future development and progress: D4y manh sy phat trién trong tuong lai
cla mét quéc gia

2. The advent of modern science: Sy xuat hién clia khoa hoc hién dai

3. Electrical and computer-based technology: Cong nghé dién tlr may tinh

4. More streamlined and efficient workplaces: Noi lam viéc hiéu qua va tiét kiém hon

5. Greater efficiency and higher productivity output: Hiéu suat cong viéc tét hon va nang suit dau
ra cao hon

6. Ease the planet’s reliance on fossil fuels: Gidm dan su phu thudc vao nang lvgng hda thach

7. The main measure of a country’s progress: Thuéc do chinh cho sy phat trién clia mét qudc gia

8. Gain more insight into: Hiu hon vé diéu gi

9. Well-rounded education: Mét nén gido dung toan dién
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25/2/2017

Topic: Some people think international car-free days are an effective way of reducing air pollution;

however, others think there are other ways.

Discuss both views and give your opinion

Sample answer

While international car-free days are thought to effectively reduce levels of air pollution, some people
believe that there are other alternatives that are more effective. This essay will discuss both of these

views.

It is true that exhaust fumes from cars are a major cause of air pollution as they contain a relatively
high proportion of pollutants such as CO2. By having some days without cars on the road, no harmful
smoke will be released into the atmosphere, and this will therefore improve the air quality. This policy is
extremely effective in big cities around the world, such as Beijing, which is well known for its dirty air
smog filled atmosphere. Since this car-free day policy has been introduced, the air quality of the city has

greatly improved.

On the other hand, local governments should try to further encourage the use of public transport, such
as subways and buses, as they effectively produce a smaller quantity of pollutants, which in turn is less
likely to impact the air quality. In addition to this, the disposal of waste, especially plastic waste which
emits toxic fumes if burned, should be closely regulated and monitored. The final and most effective
way of reducing air pollution is to use sustainable and environmentally-friendly energy sources, such as

solar or wind power, to replace fossil fuels in the long term.

In my view, these measures are all effective in addressing the problem of air pollution, but only to a
certain extent. Such a problem needs to be dealt with by a number of different approaches and | believe

that only implementing one approach will be ineffective.
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Vocabulary highlights:

1. Exhaust fumes: Khi thai

2. Relatively high proportion of pollutants: Ham luvgng chat gay 6 nhiém cao

3. Encourage the use of public transport: Khuyén khich s& dung phwong tién giao thdng cong céng
4. Plastic waste: Chat thai plastic

5. Emit toxic fumes: Thai ra khi d6c

6. Use sustainable and environmentally friendly energy sources: St dung nhitng nguén nang

lwgng bén virng va than thién vdi mai trudong
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The maps below show information about the change of Riverage college 30 years ago and now.
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Sample answer
The maps indicate several significant changes in Riverage College over a period of 30 years.

Overall, it is noticeable that the college has been changed substantially, with some new additional

features being added to the site and a number of rooms being converted for different uses.

The only facilities that haven’t been changed on the site in the 30 years are the Sport Hall, the Library,
and the Reception. The terrace located between the library and the Sport Hall still remains in place
though the adjacent flower garden is now a set of steps. The old car park has been removed and trees

planted in its place.

The four office rooms previously located above the Reception have since been replaced with an Art class
room, and the offices combined into one larger space now located above the library, where the
refectory once was. Below the library a café has now replaced what was once the common room, and a

new room has also been constructed underneath the Reception which is now used as a Music room.
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ASK 2,

Topic: Some people think that developing countries need financial help from international

organizations. Others think that it is practical aid and advice that is needed.

Discuss these views and give your own opinion.

Sample answer

There is a difference in opinions as to what form of international aid is more effective for third world
countries. In my view, support in the form of money shows less practicality than other types of useful

aid and consultancy.

On the one hand, | understand why some people argue that it is best to provide financial assistance to
developing countries. Firstly, financial aid from developed countries enables governments of poorer
nations to implement important infrastructural development, such as healthcare systems, fresh water
and power supplies. This can help to avoid stagnation of development and help a country to foster
economic progress. Secondly, when state income from taxes is inadequate, foreign cash injections are
vital to maintain effective administration systems by paying salaries for government staff members in

all sectors of a nation’s government.

On the other hand, | do agree with those who believe that other forms of assistance should be
given. Sustainable growth does not merely depend upon money, but on how a country is governed and
directed, particularly diplomacy and the resolution of serious issues like poverty, crime, and
unemployment. In this spectrum, less developed countries certainly do not have enough experience,
which emphasizes the need for direction and consultancy from other more experienced governments
and organizations. Furthermore, even if financially supported, third world countries still need experts in
the fields of science, law and medicine in order to help maintain their development in such areas.
However, scientists, lawyers and doctors can only be trained, and professional and systematic
education and training programs are therefore more practical and suitable in the context of developing

nations.

In conclusion, owing to the aforementioned arguments, it seems to me that instead of monetarily

assisting poor countries, global help should come in other forms such as advice and education.
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Vocabulary highlights:

1. Third world countries: Nhitng nwéc dang hodc chwa phat trién

2. Consultancy: Su tu van

3. Provide financial assistance: Cung cap ho tro tai chinh

4. Financial aid: HO tro tai chinh

5. Infrastructure development: Sy phat trién co s& ha tang

6. Avoid stagnation of development: Tranh tri tré

7. Foster economic growth: Gia tdng phat trién kinh té

8. Foreign cash injections: Ngudn tién nwdc ngoai

9. Maintain effective administration systems: Duy tri hé thng quan ly hiéu qua

10. Sustainable growth: Phat trién bén vitng

11. Diplomacy and the resolution of serious issues: Ngoai giao va viéc gidi quyét nhitng van dé
nghién trong

12. Professional and systematic education and training programs: Chuong trinh gido duc va dao

tao chuyén nghiép va cé hé théng
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The graph below gives information about U.S. government spending on research between 1980

and 2008
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Sample answer

The line graph provides information about the U.S government’s expenditure on research in five fields

(Health, Space, Energy, General Science and Other) over the period from 1980 to 2008.

It can be clearly seen that the US government spent the largest amount of money on research into

Health while the least amount of money was spent on researching General Science.

Starting at $10 billion in 1980, the government expenditure on research into Health slightly dropped
over the next four years before continually rising again to a peak of nearly $25 billion in 2004. Despite
declining back down to approximately $18 billion in 2008, expenditure on Health research was by far the
highest. The amount of money spent on researching General Science however was the lowest of all

research categories, beginning at $2.5 billion in 1980 and rising to just over $5 billion by 2008.

Meanwhile, there was also an increase in the money that was spent on research into Energy and Space,

from approximately $5 billion and $6 billion in 1980 to around $7.5 billion and $9 billion in 2008,
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respectively. In contrast, the only field that experienced an overall decrease in expenditure was that of

research into other areas, which fell from approximately $7.5 billion in 1980 to about S5 billion by 2008.
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Some people think that governments should ban dangerous sports, while others think people should

have freedom to do any sports or activity.

Discuss both views and give your own opinion.

Sample answer

Opinions diverge widely on whether dangerous sports should be prohibited due to the potential hazards
to participants. While | understand this argument, my view is that people should have the right to

participate in any sport they choose.

The principal reason in favour of a ban on extreme sports is that such activities are usually accompanied
by a high chance of serious injury or death. A mountain climber, for example, is always in danger of a
fatal fall even with the protection of climbing equipment. Furthermore, some of these sports not only
render the players injured, but also the cheering spectators. Take car racing for example. In Japan in
2004, a Formula 1 race car crashed and debris from the crash flew into the crowd and caused serious

injuries to both the racer and spectators.

However, | believe that people should be free to take part in any sport that they choose, and it would be
wrong to stop climbing enthusiasts from challenging themselves and enjoying the invigorating
experience of standing on top of a mountain peak. If these sports were previously banned, the world
would not have witnessed the amazing feat of the first official ascent of Mount Everest in 1953. In
addition, those who participate in these activities have to undertake rigorous training and experience
for long periods of time to ensure they are in peak physical and mental condition in order to take up

these hazardous sports. Therefore, the concern of the risk element becomes somewhat reduced.

In conclusion, it would be wrong to ban extreme sports, and | think that people should have the right to

take part in any sport they want for the aforementioned arguments.
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Vocabulary highlights:

1.

2.

A high chance of serious injury or death: Kha ndng bj chdn thuong hodc tlr vong cao
The protection of climbing equipment: Sy bao vé cla cac thiét bi leo nai

Climbing enthusiasts: Nhirng ngu0i yéu thich leo nui

Invigorating experience: Nhitng trai nghiém tran day nang luvong

The amazing feat: Nhitng thanh tyu Ién

Undertake rigorous training: Trai qua dao tao ky cang
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Sample answer

The chart gives information about the percentage of unemployed Irish citizens and the number of

emigrants leaving the country from 1988 to 2008.

Overall, there was a significant decline in the unemployment rate in Ireland, and in addition to this, the

number of those leaving the country also reduced over the examined period.

Regarding Ireland’s rate of unemployment, after a mild decrease from roughly 17% in 1988 to 13% in
1990, it experienced a slight recovery to about 15% over the following two years. The figure then
plummeted to 4% in 2000, followed by a six-year period of stability. However, the unemployment rate

of Ireland increased to nearly 6% in the final year.

Starting with approximately 60,000 emigrants in 1988, this number fell to about 55,000 in 1990 before
plunging to over 32,000 two years later. The number of Ireland’s emigrants continued to go down to

around 27,000 over the next 12 years, and suddenly surged back up to 50,000 in 2008.
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ASK 2,

Topic: The best way to solve world's environmental problem is increase the cost of fuel.

Do you agree or disagree and give your own opinion?

Sample answer

It is believed that traffic and pollution issues would be best tackled by inflating the price of petroleum. In

my opinion, this idea is completely flawed and there are several reasonable alternatives.

Clearly the price of fuel has little to do with pressing problems of traffic and pollution. The inevitable
demand for time efficience and safe commuting in the modern world makes the change of fuel prices
become rather insignificant, which proves the ineffectiveness of the suggested policy. In other words,
even if the price were increased, people would still travel by their preferred form of transport on a
daily basis and the problems of traffic and pollution would remain. Additionally, this solution could
easily trigger social disagreement and resentment. This, coupled with the reluctance of using expensive

fuel to travel every day, could be counter-productive and this proposed idea would become irrelevant.

On the other hand, alternatives to increasing the price of petrol show greater effectiveness. Firstly,
governments could implement certain regulations restricting the use of private vehicles such as cars
and turn people to using public transportation. This would relieve many roads from heavy traffic
congestion by reducing the number of vehicles on the road, which in turn alleviates the problem of
pollution caused by exhaust emissions. Secondly, in many cities around the world, cycling has proved to
be an effective, environmentally friendly form of alternative transport and should be encouraged more
in other major cities. Certain infrastructure, such as separate zones for cyclists, should be created to
help avoid the overload of traffic during rush hour when the number of vehicles can exceed the road’s

capacity.

In conclusion, | believe that heightening the price of fuel used for travelling to address traffic and
pollution problems is somewhat absurd; and that there is a number of other more suitable and effective

solutions.
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Vocabulary highlights:

1. Pressing problems of traffic and pollution: Nhitng vadn dé dang quan ngai vé giao théng va 6
nhiém

2. Time efficience and safe commuting: Tiét kiém thoi gian va di chuyén an toan

3. Travel by their preferred form of transport: Di lai bang loai hinh phuong tién ho mudn

4. Trigger social disagreement and resentment: R3y I&n sy bat déng tir x3 hoi

5. Regulations restricting the use of private vehicles: Quy ché giam thiéu su s dung phuong tién
ca nhan

6. Relieve many roads from heavy traffic congestion: Giam tai duong pho khdi dch tac giao thong

7. Separate zones for cyclists: Khu vuc riéng cho Idi xe dap

8. Exceed the road’s capacity: Vuot qua trong tai cla duong
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TASK 1

The charts below give information on the ages of people when they got married in one particular
country in 1996 and 2008.
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Sample answer

The bar charts compare the percentages of males and females, in a particular country, getting married

according to six different age groups (16-19, 20-24, 25-29, 30-34, 35-39, 40-44), in 1996 and 2008.

It is clear that the proportion of both men and women getting married under the age of 30 decreased
slightly, while the opposite was true for those aged 30 and older. In addition, 25-29 was the most

popular age range for women to get married, while for men it was 30-34 and 35-39.

In both years, 16-19 year olds were the lowest percentage of people getting married, with women at
less than 0.5% in 1996 and about 1% in 2008. Noticeably, no men in this age group got married. The
figures for those aged 20-24 also reduced over the years from approximately 6% to 3% for women and
just over 2% to just under 2% for men. Meanwhile, the figure for 25-29 year old women remained

unchanged at about 12%, as opposed to a slight drop to 8% in the figure for men.

Regarding older age groups, a considerable rise to 8% and 11% respectively could be seen in the
proportion of 30-34 year old females and males getting married. However, while the number of men
who got married aged 35-39 increased by 4%, to 11% in 2008, only 3% of women in that age group
married in 2008. Finally, the figures for both genders in the 40-45 age group remained relatively

unchanged over the examined period.
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The society would benefit from a ban on all forms of advertising because it serves no useful purpose,

and can even be damaging.

Do you agree or disagree?

Sample answer

It has been argued that a complete restriction on all forms of advertising would be of great value for
society as a whole, due to its apparent lack of usefulness and sometimes harmfulness. In my opinion,

this assumption is highly subjective, and therefore | completely disagree with it.

To begin with, to claim that commercials have no use and are detrimental to consumers is completely ill-
founded. We are living in a world where new products with distinct and revolutionary features to
better our lives and solve everyday problems are being released almost every day. We cannot deny the
fact that such products would remain relatively unknown unless advertising was used to reach
customers on a large scale. As a result of advertising, many businesses will thrive, and in turn, pay taxes
to the government which will help contribute towards a variety of governmental systems, such as

education, healthcare and social security. Such systems help to ensure the well-being of all citizens.

From another perspective, dependency on the advertising industry is inevitable for any nation to
prosper. Once commercials, by law, undergo a prohibitive order, unemployment rates would increase
and the burden would fall on the state. For example, Coca Cola dispenses thousands of employment
opportunities in advertising throughout its branches across different regions around the world. If
adverts are forbidden, an unthinkable number of workers, such as marketers, would either be driven to
other jobs or become unemployed. The government, as a result, have to provide temporary financial
support for those people. In other words, banning all forms of advertising would have many undesirable

implications on society.

In conclusion, it is unreasonable to presume that advertisements are irrelevant and need to be

prohibited for the sake of societies best interests.
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Vocabulary highlights:

1. A complete restriction on all forms of advertising: CAm tat ca cac hinh thirc quang cdo

2. lts apparent lack of usefulness and sometimes harmfulness: Thiéu sy hitu dung va d6i khi su
gay hai

3. Distinct and revolutionary features: Nhirng dac diém khac biét va mang tinh cach mang

4. Businesses will thrive: Doanh nghiép s& phat trién nhanh

5. Contribute towards a variety of governmental systems: Céng hi€n vao nhiéu hé théng chinh
phu

6. Undergo a prohibitive order: Tradi qua Iénh cdm

7. Dispense thousands of employment opportunities: Dem dén hang ngan co héi viéc lam

8. Provide temporary financial support: Cung cap sy hd tro tai chinh tam thoi
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The charts show the main methods of transport of people travelling to one university in 2004 and

2009.

Summarise the information be selecting and reporting the main features, and make comparisons

where relevant.

2004 2009
% 4%
3% °o 4%

m Car

m Bicycle
W Bus

Train
m Walking

* car parking charges in the university 2006

** new bus stop in the university in 2008

Sample answer

The given pie charts compare the percentage of students using five different means of transportation

(Car, Train, Bus, Bicycle, and Walking) to travel to a particular university during 2004 and 2009.

It is noticeable that travelling by train was the least favored form of transportation, while there was a

change, from cars to buses, for the most commonly used form of transport over the five year period.

In 2004, just over half of students traveled to the university by car, with only a third taking a bus. The
remaining students rode a bike, went on foot or took a train, with the figures being 9%, 4%, and 3%

respectively.

However, with the construction of a new bus stop in 2008 and the introduction of car parking fees in
2006, in 2009 the number of students commuting by car dropped to 28%, and consequently the number
of students travelling by all other methods increased. Those travelling by bus increased to 46%, bicycle

user’s rose to 16%, and both train travelers and walkers increased by 1% and 2% respectively.
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ASK 2,

Topic: Consumers are faced with increasing numbers of advertisements from competing companies.

To what extent do you think consumers are influenced by advertisements?

What measures can be taken to protect them?

Sample answer

These days, due to a highly competitive commercial market, people are exposed to an ever increasing
amount of advertising. | believe that people are highly susceptible to modern day advertising and

marketing techniques, and that certain actions need to be taken to ensure the wellbeing of consumers.

Advertising has become a multibillion dollar industry, and much research has gone into its development
and effectiveness in order to help businesses sell more products and services. And although advertising
can provide many benefits to the consumer, it can also have quite a negative impact on individuals and
society as a whole. One of the negative effects advertising can have is that it can lead people to buy
things that they don’t actually need or even necessarily want. Advertising techniques can make us feel
as though we really need to have something and this can cause people to make impulsive purchases,

which they may not have made if they had made a more thorough decision.

Furthermore, in societies where advertising laws are more relaxed, people are faced with large amounts
of advertising containing many subliminal messages and explicit content. For instance, it is well known in
the advertising industry that sex sells. Creating sexual themes within advertisements can influence
people’s thoughts about not only the product but ideas associated around it. This can have many
negative influences on the minds of people, and in particular children, potentially forming certain

negative beliefs and ideas about such topics.

In conclusion, for these, and many other reasons, | believe that Governments and other organisations
need to monitor how companies are promoting their products and services in order to protect innocent
consumers. This can be achieved through the regulation of the content of advertisements and the
regulation of the space where advertisements occur, such as billboards and posters. Individual
companies also must take responsibility regarding their advertisements to ensure that they do not

contain subliminal or explicit material that might negatively affect consumers.
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Vocabulary highlights:

=

A highly competitive commercial market: Thi trwdng thwong mai rat canh tranh

2. A multibillion dolar industry: Nganh cong nghiép ti do

3. Have a negative impact on individuals and society as a whole: C6 anh hudng tiéu cuc dén cac
ca nhan va xa hoi néi chung

4. Advertising techniques: Ky thudt quang cdo

5. Make impulsive purchases: Mua hang ma chua suy xét ky cang

6. Form certain negative beliefs and ideas: Tao ra nhirng niém tin tiéu cwec nhat dinh

7. Regulation of the content of advertisements and the regulation of the space where

advertisements occur: Sy kiém soét ndi dung quan cdo va su kiém soat nhitng noi ma cé quang

cao
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Topic: Scientists say that in the future humanity will speak the same language.

Do you think this is a positive or negative social development?

Sample answer

At present, there are thousands of languages being spoken in the many regions of the globe. However,
perhaps in the foreseeable future, only one common language will exist as a means of communication.
In my opinion, although this development would help to increase international communications, it

would be highly detrimental to the diversity of our species.

If we all spoke the same language, it would be the bridge to harmony and understanding between
different cultures and countries. It would eliminate the key hurdle that keeps groups of people separate
because we all have a sense of familiarity through language. We could therefore better comprehend

different cultures that used to be somewhat misinterpreted due to a linguistic barrier.

Nevertheless, if there were one common language, a part of a country’s core identity would be
sacrificed. Language not only is the way people living in the same society communicate but
also symbolizes their origins and defining characteristics. Vietnamese people, for example, have been
known for their heroism and patriotism through the words of their anthems, while most people think of

France as a land of romance because French is considered to be the language of love.

Cultural diversity and historical values would also be put at stake as a consequence of this trend.
Dialects in any part of a country carry unique stories and lessons of the past which are closely linked
to religions, beliefs, and lifestyles. And a world that uses only one language would be the ground for the

likely unfortunate disappearance of those precious aspects of life.

In conclusion, although a single global language would help to ease language barriers between nations, |

believe it would be a major threat to human identity, culture and history.
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Vocabulary highlights:

1. A means of communication: Phuong tién giao tiép

2. International communications: Giao ti€p toan cau

3. The bridge to harmony and understanding between different cultures and countries: Cu ndi
dén su hai hoa thau hiéu gitra nhirng nén van hda va quéc gia khac nhau

4. A linguistic barrier: Rao can ngén ngit

5. A country’s core identity: Ban s3c clla mét quéc gia

6. Symbolize their origin and defining characteristics: Tuwong trung cho ngudn gdc va dirc tinh

7. Heroism and patriotism: Ch( nghia anh hung va long yéu nuéc

8. Cultural diversity and historical values: Pa dang van hoa va gia tri lich st

9. Regions, beliefs, and lifestyles: Tin nguw&ng, niém tin va |6i s6ng
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Topic: Some people think that people who choose a job early and keep doing it are more likely to get

a satisfying career life than those who frequently change jobs.

To what extent do you agree or disagree?

Sample answer

It is said that those who pursue and continue with a particular career choice early in life are more likely
to experience greater fulfilment in regards to their work than those who tend to switch jobs more
regularly. In my opinion, career satisfaction is not determined by when someone chooses a career path
or for how long someone pursues it. This essay will outline some important factors believed to be

involved.

Choosing a career early in life and pursuing it for an extended period of time can have many great
benefits. For example, starting a career early can provide someone with a better financial situation later
in life, and hence greater satisfaction. In addition to this, remaining on a particular career path for a
long period of time may allow someone to advance to the top of their chosen field through promotion,

which may also possibly lead to greater career fulfilment.

On the other hand, those who change jobs or career paths more regularly may also experience many
benefits. For example, some people’s personalities are not suitable for staying in a particular job for long
periods of time, and they may need to change career paths more regularly to stay satisfied. In addition
to this, choosing a career path can be an overwhelming decision for young people without much real
world experience, and therefore exploring a range of different career paths early on may lead them to

eventually finding a career that will be more suitable for them in the long term.

In conclusion, how one person gains satisfaction from their career may be different from another. Some
may gain job satisfaction from how big their salary is, how far they have advanced within a particular
company or field, or how much fame or praise they have earned. Others may be just as content or
satisfied in knowing that their chosen career is beneficial towards serving the needs of others. Either
way, | believe that choosing a career early in life and staying on this career path does not guarantee job

satisfaction later in life.
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Vocabulary highlights:

1. Experience greater fulfilment: Trdi qua cam gidc tron ven I&n hon

2. Remain on a particular career path for a long period of time: Lam mot cong viéc trong moét thoi
gian dai

3. Greater career fulfilment: Cam giac tron ven vdi cong viéc I&n hon

4. An overwhelming decision: Mét quyét dinh ning né

5. Explore arange of different career paths: Kham pha nhiéu nganh nghé khac nhau

6. Guarantee job satisfaction: Dam bao sy thda méan trong cong viéc
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The diagram below shows the recycling process of plastics.

Summarise the information by selecting and reporting the main features, and make comparisons

where relevant.
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Sample answer

The given diagram illustrates the process of plastic recycling.

Overall, there are essentially six stages in the plastic recycling process, beginning with the buying, using
and discarding of new plastic products and ending with newly recycled products entering the market

again.

In the first stage, new products displayed in shops are purchased, used and thrown away. Plastic bags,
along with other garbage, are sent and buried in landfill sites. Plastic bottles and containers however,
are collected for recycling. After being gathered, the plastic bottles are then taken to sorting houses

where they are divided into different categories.
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Once the plastic has been sorted, it is then loaded onto trucks and transported to factories where it is
processed and made into new plastic products. These new, recycled plastic products are then finally
distributed back to retail shops where they are sold, reused and discarded once again, thereby

continuing the process.
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Topic: Some people say that what children watch on TV influences their behaviour while others say

the amount of time children they spend watching Tv influences their behavior.

Discuss both views and give your opinion

Sample answer

Some people suggest that it is not how much time children spend watching television that has an impact
on their behaviour, but rather the content of what they watch, while others disagree. Personally, | think
both of these factors can have an impact on a child’s behaviour, especially when the two factors are

combined.

Firstly, over the last decade or two, there has been a steady increase in the amount of inappropriate
content that has been allowed to be televised. Television programmes and commercials these days are
full of graphic violence, sex scenes and sexual connotations, amongst other topics that are considered
unsuitable for children’s viewing. Even cartoon programmes these days are full of violence. Young
children are the most affected by this issue due to the fact that they are still learning and developing
ideas about the world. Being exposed to such content can negatively shape their views and personal

relationships, and therefore affect their behaviour.

However, not only does the content of what children watch affect their behaviour but also how much
time they spend watching television. In most modern societies it is very common for young children to
spend hours of their day with their eyes glued to the television screen. Many children watch television
as soon as they wake up in the morning and as soon as they come home from school. Many parents
even consider the television to be like a baby-sitter, something to keep their children occupied.
Unfortunately, this has many detrimental effects on children’s behaviour, the primary reason being
that most children suffer from a severe lack of outdoor activity and exercise, which are vital for a

child’s well-being and development.

In conclusion, | believe that both what children watch and how much time they spend watching
television can impact their behaviour. Governing authorities should consider more stringent regulations
when it comes to television programme content and parents need to be more careful about how much
time their children spend watching television every day to avoid the negative implications that it can

have on their children’s behaviour.
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Vocabulary highlights:

1. Inappropriate content: NGi dung khéng phu hop

2. Televised: Phat trén TV

3. Graphic violence, sex scenes and sexual connotations: Hinh anh bao luc va tinh duc
4. Unsuitable for children’s viewing: Khéng phu hop cho tré em

5. Negatively shape their views: Dinh hinh cai nhin mot cach tiéu cuc

6. Their eyes glued to the television screen: Dinh mat vao man hinh TV

7. Detrimental effects: Anh hudng x3u

8. The primary reason: Ly do hang dau

9. Asevere lack of outdoor activitiy and exercise: Thi€u hoat dong ngoai troi

10. Vital for a child’s well-being and development: Can thiét cho sy phat trién cla tré
11. More stringent regulations: Quy dinh nghiém ngat hon

12. Avoid the negative implications: Tranh nhitrng hé qua x3u
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The chart below shows the number of films produced five countries in three years.
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Sample answer

The bar chart provides information about movie production in five different countries (labelled A-E)

from 2007 to 2009.

Overall, country A had the highest number of films produced. It is also notable that while there was a

decline in the figures for country A and D, the opposite was true for those of country B, C and E.

In 2007, around 86 films were made by country A. The figure remained unchanged one year later before
slightly decreasing to exactly 80 films in 2009. Starting at about 15 movies in 2007, the number of films

released by country D fell to just under 10 in 2008 and rose again to 12 in 2009.

However, the opposite trend could be seen in the figures for the other countries. Between 2007 and
2009, the number of movies made by country B witnessed a rise of 20 movies from 50 films to 70 films.
Similarly, despite standing at only under 10 films in 2007, the number of movies made by country C
underwent a gradual increase to 18 movies by 2009. As for country E, the figure only experienced a

minimal rise from around 9 movies in 2007 to 11 in 2009.
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Topic: Some people think that good health is very important to every person, so medical service

should not be run by profit-making companies.

Do the advantages of private health care outweigh the disadvantages?

Sample answer

These days many people feel that good health and well-being is essential to all people and therefore
healthcare services should not be run by privately owned companies, whose main objective is to make
profit. Personally, while | do agree with this statement, | also believe that private healthcare services do

have many advantages.

Firstly, public hospitals in most countries are usually overcrowded and underfunded which can put a lot
of pressure on doctors, nursing staff and patients to recover quickly so that more people can be treated.
When people choose private healthcare services it can help to reduce the burden on the public system,
and as a result can also help to reduce the amount of money required by the government for funding. In
addition to this, those who choose to pay for private healthcare services will experience many benefits,
such as the quality and speed of treatments, short waiting times for appointments and operations, and

more private and comfortable facilities.

However, while there are a number of benefits to private healthcare, there are also a number of
drawbacks. To begin with, private healthcare insurance is very costly and many people simply cannot
afford it. In addition, private healthcare insurance is usually paid on a monthly basis, whether you use
the system or not, and therefore many people pay thousands of dollars each year for private healthcare
but never need to use the facilities or services. Many people consider this to be a waste of money.
Furthermore, some people also argue that private healthcare services create inequality between citizens

of a nation as only the wealthy can afford the best and quickest treatment available.

In conclusion, | believe that as long as governments do their best to provide a good standard of
healthcare facilities and services for the general public, then private healthcare services can also exist

and provide many advantages that will outweigh the disadvantages.
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Vocabulary highlights:

1. Overcrowded and underfunded: Quéd déng va khéng dwoc dau tw day du

2. Private healthcare services: Dich vu chdm sdc strc khde tw nhan

3. Reduce the burden on the public system: Giam thiéu ganh ning vao hé théng cong
4. Private healthcare insurance: Bao hiém sirc khée tw nhan

5. A waste of money: Phi tién

6. Afford the best and quickest treatment available: Chi tra viéc chita bénh t&t va nhanh nhat
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The bar chart below shows the percentage of government spending on roads and transport in 4

countries in the years 1990, 1995, 2000, 2005.
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Sample answer

The given bar chart shows the proportion of government expenditure on road and transport in four

countries (Italy, Portugal, UK, USA) every five years between 1990 and 2005.

Overall, it can be seen that governments in mainland Europe spent far more money on roads and
transport than those in the UK and USA. It is also clear that the UK spent the least amount of money on

roads and transport in all measured years.

In 1990, Portugal spent the most amount of money on roads and transport at approximately 27%,
followed by Italy at about 22%, while the USA and UK both spent only around 10% of their government

budget. In 1995 however, all countries reduced their road and transport spending by between 1-3%.

By 2000 while Portugal continued to reduce its road and transport spending down to around 22%, Italy
had increased its spending to approximately 23%, overtaking Portugal as the leading spender on
transport infrastructure in 2000. The UK and USA had both increased spending in 2000 by about 3%. In
2005, all countries except USA further reduced their spending with Portugal, Italy, UK and the USA at
20%, 19%, 8% and 15% respectively.
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Topic: People should look after their health for personal benefits, rather than a duty for a society.

What extent do you agree or disagree?

Sample answer

It has been argued that people today should care for their own personal health purely to enjoy the
personal benefits that are gained from having good health, rather than as a duty to others in their
society. Personally | believe that people should take good care of their health not only to reap the
associated benefits, but also as a way of helping to uplift the lives of the citizens within their own cities

and countries.

Many people claim that the secret to a happy life is through achieving and maintaining good health,
and | also stand by this notion. When someone experiences good physical and mental health they are
able to enjoy their life to the fullest. Good health allows people to pursue their hopes and dreams and
enjoy human relationships with family and friends. Without good mental and physical health, these

ideals are difficult to attain.

In addition to this, today, people are suffering from mental and physical sickness and diseases more so
than ever before. This, in turn, causes a heavy load on a country’s healthcare industry and causes large
financial burdens to the country’s national budget, which comes at the cost of the tax paying citizens. If
people were to look after their health better, it would reduce such financial burdens and the money

could then be spent on other services that would benefit the quality of life for the society as a whole.

In conclusion, | firmly believe that all people should strive to achieve and maintain the highest levels of
health possible not only so that they can be happy and enjoy their own life, but also so that they can

contribute towards a more happy and healthy society around them.
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Vocabulary highlights:

1. Reap the associated benefits: C6 dwoc nhirng lgi ich lién quan

2. Uplift the lives of the citizens within their own cities and countries: Nang cao chat lwgng cuéc
s6ng cla ngudi dan

3. Achieve and maintain good health: Dat dugc va duy tri stec khoe t6t

4. Experience good physical and mental health: C6 sirc khde thé chat va tinh than t6t

5. Cause a heavy load on a country’s healthcare industry: Tao ra gdnh nidng Ién nganh y té cla
mot quéc gia

6. Benefit the quality of life for the society as a whole: Cé lgi cho chat lwong cudc séng cla xa hoi
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ASK 1

The diagram below shows the process of recycling glass bottles.
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Sample answer

The diagram illustrates how glass bottles are recycled.

Overall, it is clear that there are three separate stages involved in the recycling process, starting with the

collection of wasted bottles and ending with new products entering the market to be purchased.

In the initial stage, all glass bottles are stored in collection points from where they are picked up and
delivered by trucks to a cleaning plant. Here, the bottles are washed with high pressure water, and then

sorted according to color (clear, green or brown) and prepared for the following stages.

The clean and sorted bottles are then transferred to a recycling plant, where they are melted in a special
glass furnace to turn the glass into liquid form. The recycled liquid glass, along with new liquid glass, is
then molded to form new glass bottles. Finally, the new bottles are ready to be used and sent to

supermarkets where they will be purchased and used by customers, thereby completing the process.
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Topic: Some people think a job not only provides income but also social life. Others think it is better to

develop social life with people you do not work with.

Discuss both views and give your opinion.

Sample answer

Nowadays, an increasing number of people are concerned about the impact of their occupation on their
personal life, and whether to establish friendships at work or outside of work is still a controversial

issue. My view is that work can be an ideal breeding ground for social relationships.

Firstly, it is obvious that social connections at work can be fostered when there are shared interests
between colleagues. To be more specific, most workers are motivated by money, and therefore, they
share the same goal. This shows that through work, staff can bond together over a shared interest.
Based on that, they can build up a mutual understanding of one another and gradually enhance their

relationship.

Moreover, long hours in the workplace can result in improved bonding between workers. For example,
many Japanese office workers spend up to 8 to 10 hours per day at their company together. During that
time, they are successfully able to cultivate friendship which helps to improve not only their mood and

outlook at work but also their performance.

This is not to say that socialising outside of work is not beneficial. Of course, when making friends from
different walks of life outside of the workplace, people can gain a greater perspective and thus become
a more well-rounded individual. However, building relationships after working hours seems somewhat
impossible since the time available is limited. In my opinion, friendship at work is easier to maintain

compared with outside acquaintances.

To conclude, the workplace can definitely bring many great social opportunities. The public therefore

should start to consider companies and corporations more than just places to make a living.
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Vocabulary highlights:

1. Establish friendship: Gay dung tinh ban

2. An ideal breeding ground for social relationships: Mdi trudng ly twdng cho nhitng méi quan hé
xa hoi

3. Bond together over a shared interest: Gan két v&i nhau qua mdt méi quan tdm chung

4. A mutual understanding: Su thau hiéu Ian nhau

5. Improve not only their mood and outlook at work but also their performance: Cai thién khong
chi tdm trang va cai nhin ma con sy thé hién trong cdng viéc

6. Gain a greater perspective and thus become a more well-rounded person: C6 dugc quan diém

I&n hon va vi vay tré thanh ngudi hoan thién hon
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The table below gives information about population in Australia and Malaysia in 1980 and 2002

Australia Malaysia

1980 2002 1980 2002
Total population (millions) 14.7 19.6 13.7 24.3
Male population (%) 49.9 49.9 50.3 50.6
Female population (%) 50.1 50.1 49.7 49.4
Birth rate (%) 1.5 13 3.2 2.2
Average annual population growth (%) 1.2 13 2.4 2.1
Population aged over 65 (%) 9.6 12.4 3.7 4.3

Sample answer

The given table compares a range of demographic data from Australia and Malaysia in 1980 and 2002.

In general, Malaysia had a relatively younger population than Australia, and a remarkably faster

population growth.

Looking at the table in more detail, it can be seen that the gender ratios in both countries were almost
perfectly balanced. There were slightly more women in Australia and slightly more men in Malaysia in
both years. Also, the difference in population between the two countries in 1980 was minimal, at only
about 1 million. However, the difference was around 5 million in 2002, as the population of Malaysia

almost doubled.

The two countries also differed widely in relation to the birth rate. The birth rate in Malaysia was almost
twice as high as that of Australia (3.2% and 2.2% compared to 1.5% and 1.3%). As a result, average
annual population growth in Malaysia was also higher. Another notable feature is that while the
percentages of people aged over 65 in Malaysia were approximately 4% in both years, the figures for

Australia were much higher, at 9.6% and 12.4% in 1980 and 2002, respectively.
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Topic: Parents often give children everything they ask for and do what they like.
Is it good for children?

What are the consequences when they grow up?

Sample answer

Parental approaches to raising children surely play a key role in a child’s development. Many parents
often over-indulge their children, and | feel that this method would significantly hinder their individual

growth and later adult life.

It is human nature to love their offspring, however over-indulgence is a poor choice of rearing. Children
need to learn through reward and punishment, which means that they should be punished for what they
do wrong and rewarded when they achieve something. Punishments like withdrawal of privileges or
even those of physical nature could sometimes be needed to educate children. However, if they are
allowed to do whatever they want, they will not understand the difference between right and wrong and

become ignorant, thoughtless individuals.

Providing youngsters with whatever they desire would teach them nothing but to have no regard for
what they already have. For example, they will pester their parents to buy them a new toy if they are
bored with the one they have. This is extremely dangerous because it could be the basis of their

character when they grow up.

When there is no limit to the indulgence parents show towards their kids, these children will become
needy and dependent, and therefore are unable to live on their own. In some cultures like Vietnam,
parents pick up their kids from school even during high school, buy their clothes and cook for them at
home. Children do not have to do anything, which is mainly why many of them cannot stay away from

their parents and live independently even when they are in their twenties.

In conclusion, | firmly believe that indulgence should be limited. Otherwise, it may poorly shape

children’s personalities and restrict their ability to lead an independent life later on.
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Vocabulary highlights:

=

Play a key role in a child’s development: Ddng vai tro thiét y&u cho sy phat trién cla tré

2. Over-indulgence is a poor choice of rearing: Qua nudng chiéu la mét cach nudi nang téi té

3. Withdrawal of privileges: Rut lai quyén loi

4. Pester their parents to buy them a new toy: Nai ni b6 me mua mot mén dd choi méi

5. The basis of their character: Nén tang cua tinh cich

6. There is no limit to the indulgence parents show towards their kids: Khong c6 gi¢i han cho sy

nudng chiéu bé me hanh cho con cai



L1Z1M

Luyén thi IELTS cam két dau ra

3/6/2017

The percentage of female members of parliamentin
European countries (2000 - 2012)
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Sample answer

The line chart illustrates the proportion of female parliament members in Germany, Italy, France, the UK

and Belgium from 2000 to 2012.

In general, all countries experienced an upward trend over the period, with Italy being the country with

the highest percentage of female parliament members in 2012.

The percentages of female members of parliament in Germany and ltaly were always higher than those
of the other three countries however they also experienced a similar trend. While the figure for Italy
rose from 27% to just under 40%, that of Germany increased by only 4%, to be at about 37%, during the
examined period. Starting at 25% in 2000, the proportion of female parliament members in France

increased at a similar rate to Germany, to end up at approximately 32% in 2012.

In 2000, only around 3% of parliament members in the UK were female, however this figure rose quite
substantially to about 20% in 2008 and continued to peak at roughly 23% in 2012. The percentage of
female parliament members in Belgium also stood at 23% in 2012, however this figure only showed a

small change from its figure of around 17% in 200.
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Topic: As the number of cars increases, more money has to be spent on road systems. Some people

think the government should pay for this. Others, however, think that the user should cover the costs.

Discuss both views and give your opinion

Sample answer

Opinions diverge widely on who should be responsible for road maintenance costs due to the
proliferation of private cars recently. While some people argue that those who use cars should shoulder
the responsibility for the improvement of road systems, | believe that such costs should be the liability

of the government.

The principal reason why car commuters should take the responsibility for these costs stems from their
overuse of roads. Compared to other means of transport like a motorcycle, a car obviously not only
occupies much more road space, but also wears the roads more due to its larger size and weight. It was
estimated in Thailand in 2015 that the number of private cars made up nearly 85% of total vehicles
commuting on the roads to and from work. As a result, the need for the expansion and enhancement of
roads is mainly to facilitate a more comfortable journey for car users. Therefore, it is reasonable to

assign the costs to car owners to pay for the maintenance and enhancement of the infrastructure.

However, | believe that the expenditure for road infrastructure projects should be incurred by the
government for the following reasons. Firstly, the main role of governments is to improve the citizens’
standard of living, and an efficient transportation system is just one of the residents’ basic needs. In
fact, the efficiency in road transport is the backbone of a country’s economy, and therefore it would be
wrong if governments did not give this top priority. Secondly, as in many countries, car buyers are
charged an exorbitant amount of tax in order to own and drive a car on roads, and therefore it is unfair
to solely lay the responsibility for road upgrade works on them. For example, people in Vietham have
to pay almost twice as much to own a car than in other countries since taxes and fees account for 40-
50% of car prices. Therefore, it is better to use these taxes for road infrastructure investment, rather

than forcing citizens to pay for it.

In conclusion, although the argument in favor of road infrastructure costs belonging to car owners might
be convincing to some extent, | think that the government should be the one to take the full

responsibility for this.
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Vocabulary highlights:

1. Road maintenance costs: Chi phi bao tri duong

2. Shoulder the responsibility for the improvement of road systems: Ganh trach nhiém cai thién
hé théng dudng xa

3. Facilitate a more comfortable journey for car users: Tao diéu kién cho ngudi st dung xe co
nhitng chuyén di thoai mai

4. The maintenance and enhancement of the infrastructure: Sy bao tri va cai tién cta co s& ha
tang nay

5. An efficient transport system: Hé théng giao théng hiéu qua

6. Give this priority: U'u tién diéu nay hon

7. Lay the responsibility for road upgrade works on them: D3t trach nhiém cai thién dudng xa Ién
ngudi st dung xe hoi

8. Road infrastructure investment: Dau tu vao co s& duong xa
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The pie charts below show the main reasons why students chose to study at a particular UK University

in 1987 and 2007.

1987 2007
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Sample answer

The given pie charts illustrate information regarding the factors that affected student’s decision to study

at a particular British university, between 1987 and 2007.

In general, while having suitable degree courses remained the most important issue when it came to
college preference, the distance from their parent’s home became a significant factor over the period

shown.

In 1987, the proportion of students choosing a university for having suitable degree courses experienced
slight growth from 35% to 37% over the next two decades. The figure for quality of resources, which was
the second most common reason in the first year, however, dropped mildly by 4% to 17%. Similarly,
students tended to care less about the sport and recreational activities that were provided, with a
considerable drop from 19% to 6%, which became the least popular reason for choosing a university in

2007.

Regarding other factors, the number of students who preferred to choose a university that was near to

their parents’ houses doubled from 10% to 20% over the period. In contrast, the number of students
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who were concerned with the quality of professors almost halved, dropping from 15% to 8% during the

examined period.
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Topic: Some people say that it is possible for a county to be both economically successful and have a

clean environment. Others disagree.

Discuss both view and give your opinion.

Sample answer

The strength of any nation does not come without costs, one of which is upon the local environment
whose resources fuel each and every sector of the economy. And yet many people believe that a strong
economy and a clean environment can co-exist. | do not entirely deny this belief; however, | find myself

more convinced of the fact that we cannot have them both.

For years, scientists have developed ways to replace traditional sources of exploitation in many fields,
like electricity and fuel. The use of alternative renewable energy from sunlight, wind and geothermal
heat, have been applied in many areas, which helps to keep the environment away from harm. In
addition, many environmental activists say that it is certainly within our reach to minimize the damage
caused by industrial activities and protect Mother Earth. Many have even succeeded in convincing

governments to take action in such regard.

Nevertheless, we should not forget that there are things that make it impossible to relieve our
dependency on natural resources. For example, the automobile, mining and steel industry, are without
doubt taking a heavy toll on the environment on account of carbon emissions and chemical waste. But
those prove to be indispensable and irreplaceable to the progress of many economies. Furthermore,
tremendous damage has already been done, and many people fear that the environment’s state of
cleanliness cannot be restored. Take Beijing as an example. Air quality there is the worst in the world,

with thick layers of smog covering the atmosphere.

In conclusion, my firm conviction is that no matter how hard we try to preserve the environment, while
we continue to exploit its natural resources for the sake of the economy, we will never have both of

them at the same time.
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Vocabulary highlights:

1. A strong economy and a clean environment can co-exist: Mot nén kinh té€ hing manh va moét
mdi trudng sach cé thé cling ton tai

2. Traditional sources of exploitation: Cic ngudn khai thac truyén théng

3. The use of alternative renewable energy: Sy st dung nang lwong bén virng thay thé

4. Minimize the damage caused by industrial activities: Gidm thiéu t8n hai gy nén bai hoat dong
cong nghiép

5. Relieve our dependency on natural resources: Giam nhe sy phu thudc clia con ngudi vao tai
nguyén thién nhién

6. Take a heavy toll on the environment: Gay nén nhitrng tén that n3ng né I&n moi trudng

7. Carbon emissions and chemical waste: Khi thai Carbon va chat thai héa hoc



L1Z1M

Luyén thi IELTS cam két dau ra

17/6/2017

70
60 /

. /
. /

30 /

. _ _

10
O B T I T T 1
1998 2000 2002 2004 2006 2008
= | andline service = nternet service Mobile broadband
=== Cellular phone service Fixed broadband

Sample answer

The line graph gives data about the number of users of five different communication services worldwide

from 1998 to 2008.

Overall, all services experienced some growth over the 10 year period, with cell phone and Internet

services experiencing the most growth and becoming the most popular forms of communication.

In 1998, the figures for cell phone and Internet users started at around 5% of the population. They both
increased over the remaining years, with cell phone service gaining the highest position in 2008, with
more than 60% percent of the population using this type of service. This number was approximately

three times as much as that of Internet service in the same year.

Meanwhile, throughout the 10-year period, little change was seen in the use of landline services, at
about 15% of the population. Also, the use of mobile and fixed broadband services was minimal before

2002. The figures for these two services rose slightly to roughly 5% of the population by the last year.
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Topic: Space travel has been possible for some time and some people believe that space tourism

could be developed in the future.

Do you think it is a positive or negative development?

Sample answer

Years ago, humans sent spacecraft to explore the universe and satellites into orbit around our planet,
and life on Earth has become better and better since then. Such technology facilitates global
communication, predicts weather conditions and, most importantly, brings a whole new view of the
potential of our technology and engineering. With this solid foundation, sending tourists into space is
within our grasp, and many believe a new tourism industry could be developed in the years to come.
Our climate will be affected, but | think it is an acceptable price to bring wealth and inspiration for

future generations.

Space tourism could have major consequences for the earth’s climate. The emissions from rockets are
enough to increase the temperature in areas around the launch site, and some scientists have
discovered that this also causes temperatures at the north and south poles to increase, leading to global

warming and rising sea levels.

Space tourism however, could easily become a multibillion-dollar industry that will bring great wealth to
any economy that is involved. In the past, only selected astronauts were able to fly into space, but
recently other people, particularly wealthy business figures, have become curious and aspire to have
such an experience. Once orbital flights are arranged on a regular basis and made available for people, a

great deal of money will be paid to travel into space.

Furthermore, space tourism will inspire new generations of engineers, which comes with a promise of
new technological innovations. Travelling into space was once an unreal concept until Neil Armstrong
set foot on the surface of the moon. It motivated millions of young engineers and scientists to reach a
new height in space technology, such as satellites and orbital space stations around the earth. If space
tourism were developed in the future, more and more technological breakthroughs would be expected

to come into being.

In conclusion, | think the benefits from space tourism are much more significant than the harmful

impact it may have on our climate.
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Vocabulary highlights:

1. Facilitate global communication: Tao diéu kién cho giao ti€p toan cau

2. Predict weather conditions: Dy bao thoi tiét

3. Bring wealth and inspiration for future generations: Pem dén sy giau c¢6 va cadm hirng cho céc
thé hé twong lai

4. Have major consequences for the earth’s climate: Cé hau qua I&n dén khi hau trai dat

5. Wealthy business figures: Nhirng nhan vat giau cé trong gidi kinh doanh

6. Technological innovations: Nhitng d&i mé&i cdng nghé

7. Technological breakthroughs: Nhitng dot phd cong nghé
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The chart shows information about the actual and expected figures of population in three cities,

Jakarta, Sao Paulo, and Shanghai.

Population size (1990 - 2000)
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Sample answer

The given bar chart illustrates the population of Jakarta, Shanghai and Sao Paulo in 1990, as well as the

estimated and actual figures of the populations in 2000.

Overall, the population figures were highest for Sao Paulo, while Jakarta had the lowest number of
inhabitants. Also, there were significant differences in the predicted and actual figures for 2000 in all

countries.

Starting at around 17 million people in 1990, the population of Sao Paulo, the most populous area of the
three examined cities, was expected to rise by about 4 million over the next decade. Likewise, forecasts
estimated that the figure for Jakarta would also experience an increase of 2 million to reach 11 million in

2000, while that of Shanghai would decrease slightly to 11 million people.

The actual figures, however, implied a considerable growth in the populations of all cities. To be specific,

Sao Paulo’s population reached nearly 25 million after ten years, while there were about 3 million more
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residents in Jakarta. At the same time, Shanghai’s figure which was projected to decrease slightly turned

out to soar to 15 million in 2000.
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Topic: Scientists predict in the near future cars will be driven by computers, not people.

Do you think it is a positive or negative development?

Sample answer

Travelling has been greatly facilitated by a number of technological advances in recent years, and
ultimately, cars will be operated completely by computers in years to come. In my view, this can have

both positive and negative consequences on society.

One of the main disadvantages of autonomous cars is that it will have an undesirable influence on
employment rates of commercial drivers. There is little doubt that these people will be forced out of
work when autonomous cars become the favored preference. This also leads to a more pressing
concern about the associated consequences when unemployment rates proliferate, one of which is the
increasing social burden placed upon the government. Considering the unprecedentedly fast
development of car technology in recent years, such a scenario is likely to occur in the foreseeable

future.

However, we should consider these disadvantages as inevitable factors that accompany a handful of
more significant benefits. For one, autonomous vehicles can accurately navigate their way with less
chance of making errors in judgment like human drivers do, hence, increasing the safety of passengers.
It is true that the majority of traffic accidents come from situations where speed or alcohol is involved,
which would not be the case if cars are operated by computers. Furthermore, such technology will
inspire a new generation of mechanics and engineers, in turn, leading to more inventions that will make

human life easier and more comfortable.

In conclusion, the predicted appearance of driverless cars will severely impact employment in the
transportation industry and result in large social burdens upon the government. Nevertheless, | do think
that those negative consequences are the prices we can accept in order to enhance road safety and

nurture a new era or engineering.
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Vocabulary highlights:

1. Autonomous cars: Xe tv lai

2. Have an undesirable influence on employment rates of commercial drivers: Cé anh huéng
khoéng mong mudn |én ty 1& viéc lam cda ldi xe thuwong mai

3. The increasing social burden placed upon the government: Ganh nang xa cang cang ngay cang
tang dat 1én chinh phd

4. Navigate their way with less chance of making errors in judgment: Diéu huéng duwong di vai it

16i trong viéc phan doan dudng di
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8/7/2017

The maps below show the changes in the art gallery ground floor in 2005 and present day.

Cafe Stairs Exhibition Gallery Stairs lit I Exhibition
room 3 shop =] room3
Gallery O :
office O Exhibition Vendl.ng Exhibition
machine
room 2 O room 2
receptionist 0
Temporary] 1 »
Exhibition exhibition | receptionist
room 4 Exhibition Entrance Exhibition
room 1 Children’s Hall room 1
entran/ceI area entrance
Art Gallery 2005 Wt Art Gallery
present day

Sample answer

The maps illustrate the differences in the layout of an art gallery in 2005 and now.

Overall, the art gallery has been improved with the installation of a number of services and facilities,

with some areas of the gallery converted for other purposes.

As can be seen from the map, the cafe in the rear-left corner of the gallery has been replaced by a
gallery shop. The space for the gallery shop is smaller than the space of the old café, which allowed for a
new lift to be constructed next to the stairwell. Meanwhile, the gallery office next to the café has been
removed and made way for the installation of a new vending machine. Furthermore, the reception desk
has been moved to the center of the entrance hall, and a wheelchair access ramp added to the main

entrance.

Regarding the exhibition areas, the space for exhibition room 4 has now been divided into two new
areas; one for temporary exhibitions and the other for children. However, no changes have occurred to

Exhibition rooms 1-3.
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Topic: Everyone should stay at school until 18.

To what extent do you agree or disagree?

Sample answer

Some people think that all children should stay at school until the age of eighteen. Although staying at
school until adulthood can produce a number benefits, | personally disagree with this idea for a number

of reasons, which will be outlined in this essay.

On the one hand, the idea that children should continue to study at school until the age of eighteen
does have a number of benefits. Firstly, most young people under the age of eighteen have very little
real-world experience and have very little idea of what career they will pursue, and therefore staying at
school until the age of eighteen will allow them further opportunity to develop their education and time
to decide upon a suitable career path. Furthermore, forcing children to stay at school until the age of
eighteen will create a more educated future generation of people which may help to reduce some

social and unemployment problems.

On the other hand, there are also a number of drawbacks that this idea may bring with it. For instance,
many children these days do not fit-in with the current education system and forcing them to
participate in school can cause many problems. For example, these kinds of students are usually very
disruptive in a classroom and this affects other students who are trying to learn. In addition to this,
many children choose to follow careers that do not require them to continue studying in school past the
age of sixteen. For example, for those who wish to pursue a career that requires more practical based
learning, such as a qualified builder, electrician or machinery operator, it is quite unnecessary to remain

at school until the age of eighteen.

In conclusion, although there would be a number of positive effects from children remaining at school

until a later age, | personally feel that the drawbacks outweigh the benefits mentioned above.
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Vocabulary highlights:

1. Have very little real-world experience: Cé rat it kinh nghiém thyuc té

2. Create a more educated future generation of people: tao mét thé hé duogc gido duc t6t hon
trong twong lai

3. Fit-in: Hoa nhap

4. Disruptive: hay gy rac réi

5. A career that requires more practical based learning: 1 nghé nghiép doi nhiéu hon vé viéc hoc

tlr thue té
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The table below shows the number of cars made in Argentina, Australia and Thailand from 2003 to

15/7/2017

20009.
2003 2005 2009
Argentina 235,088 352,759 466,089
Australia 452,163 341,268 245,624
Thailand 735,852 1,162,356 999,963

Sample answer

The table provides information about car production in three different countries over a period of 6

years, starting from 2003.

It is clear that Thailand produced the largest number of cars over the period shown. Also, while the

number of cars manufactured in Thailand and Argentina increased, the opposite was true for Australia.

In 2003, 735,852 cars were produced in Thailand, significantly more than in the Australia, with just over
450,000 cars. The figure for Argentina, however, was only about a third of the figure for Thailand and
half that of Australia, at 235,088.

Over the following six years, Thailand still remained first rank in car manufacturing among the three
countries. Their car production soared to 1,162,356 cars in 2005 before dropping back down to
approximately one million 2009. Likewise, the number of cars manufactured in Argentina increased
throughout the period to 466,089 cars, which made them become the second biggest manufacturer of
cars in the last year. The figure for Australia, however, experienced a downward trend over the period,

decreasing to just under 250,000 cars by the end of the period.
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Topic: The animal species are becoming extinct due to human activities on land and in sea.

What are the reasons and solutions?

Sample answer

Human society develops with a heavy cost on the animal world. A vast number of different species are
being pushed to the verge of extinction. Rapid industrialization along with rampant illegal hunting are
the driving forces behind such a tragedy; and ordinary people should join with governments in an effort

to protect wild, endangered animals.

By releasing massive quantities of pollutants, many heavy industries such as steel and mining are
inflicting tremendous damage on animals’ natural habitats. Forests which are home to wild animals are
being cut down to make way for factories and fuel their operation. Furthermore, exploiting oil from
oceans possibly leads to the unfortunate disappearance of many kinds of aquatic creatures. Many
incidents where large schools of fish are killed have happened in consequence of being exposed to

chemicals and chemical waste from oil and gas mining rigs located out at sea.

In addition, a lot of animals are being poached due to an increased demand for products made from
their body parts. In the wild, rhinos are illegally slaughtered for their horns which are sold at high prices.
Although laws and regulations are implemented in an attempt to protect particular endangered species,

it does not seem to be effective enough.

There are, in fact, several ways to help protect wild animals. First of all, the expansion of heavy
industries should be stopped by law to keep the natural environment for these animals untouched.
Individuals should be well-informed that their unnecessary needs are a large cause of animal suffering,
and hence, should refrain from using products made from animal skin or horn. Last but not least,
poachers should be strictly punished and more conservation areas should be constructed in order to

shelter endangered animals.

In conclusion, humans are threatening the survival of many animal species when they expand their
factories and hunt out of greed. It is imperative to put appropriate protection measures, as | have

discussed, into place.
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Vocabulary highlights:

1. Driving forces behind such a tragedy: nguyén nhan tac dong ding sau tham kich nay

2. Inflicting tremendous damage on animal’s natural habitats: gdy thiét hai to I&n 1én moi trwong
tw nhién clda dong vat

3. Unfortunate disappearance of many aquatic creatures: sy bién mat khdng may cuta rat nhiéu
loai sinh vat bién

4. Poach: san trom

5. Keep the natural environment for these animals untouched: gilt gin moéi truong cho cac loai
dong vat

6. Refrain from: kiém lai
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The table below gives information on visitor statistics for 1996, 1998 and 2000 for various World
Heritage sites in Australia

Site 1996 1998 2000
Great Barrier Reef 1,670,000 2,950,000 3,200,000
:::‘:;jljis:gwe 810,000 790,000 770,000
Blue Mountains 526,000 565,000 581,000
Tasmania Wilderness 450,000 475,000 483,000
Shark Bay 84,000 102,000 89,000
Macquarie Island 350 310 330

Sample answer

The table illustrates the number of people visiting six World Heritage sites in Australia between 1996

and 2000.

It is clear that the total number of visitors to those places showed an upward trend. Also, the Great

Barrier Reef was the most attractive tourist destination over the period shown.

In 1996, 1,670,000 tourists paid a visit to the Great Barrier Reef, double the figure for the Central
Eastern Rainforest Reserve. Over the next two years, there was a dramatic increase of almost twice as
many visitors to Great Barrier Reef, followed by another slight increase of about 200,000 people in 2000.

In contrast, the Central Eastern Rainforest Reserve saw about 20,000 less visitors every two years.

Among the remaining destinations with much fewer travelers compared to the two first ones, the Blue
Mountains and the Tasmanian Wilderness were more popular, with approximately 500,000 visitors in
1996. The figures then increased to approximately 600,000 and 500,000 after 4 years. In comparison,
84,000 travelers chose to visit Shark Bay in 1996, exponentially higher than the figure for Macquarie
Island with only 350 visitors. While the former experienced a rise to 89,000, the latter dropped slightly
to only 330 by the end of the period.




L1Z1M

Luyén thi IELTS cam két dau ra

Topic: Some people are born to be leaders, while others believe leadership can be learnt.

Discuss both views and give opinion

Sample answer

Some people think that great leaders are born and not made. Others, however, feel that leadership skills
are developed over time through training, experience and mentoring. In my opinion, good leadership

is a combination of both natural abilities and persistent practice.

Those who feel that leadership is a characteristic that some people are born with might argue that good
leaders possess optimism and energy that will encourage others to work together effectively. In fact,
some studies have shown that these characteristics are genetic, as are certain individual talents that
one may be blessed with at birth. Furthermore, people such as Barack Obama, have a certain
charisma that allows them to inspire passion and energy in others, and this particular trait is also

believed to be innate.

Nevertheless, many people consider that leadership is a skill that can be learnt. There are other
elements that make someone a great leader, such as discipline and resourcefulness, which can definitely
be developed through one’s childhood up-bringing. Furthermore, the credibility of a true leader is built
on his self-confidence and mastery of his area of expertise which only emerge after a great deal of time
and experience. Without these qualities, a leader’s capability may be questioned, and as a result, people

are unlikely to heed the leader’s direction.

Personally, | think the skills and attributes of a good leader are both genetic and enhanced through
training, experience and a lot of persistent hard work. There are many people born without natural

leadership skills that can still become good leaders in the future.
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Vocabulary highlights:

1. Genetic: di truyén

2. Have a certain charisma that allows them to inspire passion and energy into others: c6 mot
strc hit nhat dinh ma cho phép ho truyén cdm hirng va ndng luong cho moi ngudi

3. Innate: sbam sinh

4. The credibility of a true leader is built on his self-confidence and mastery of his areas of
expertise: si dang tin cdy cla mot nha lanh dao thuc su dugc xay dung tlr su tu tin va sy tinh
théng vé linh vyc chuyén mén

5. Heed the leader’s diredtion : di theo dwdng 18i clia ngudi 13anh dao
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The table and chart below provide a breakdown of the total expenditure and the average amount of

money spent by students per week while studying abroad in 4 countries.

Expenditure of studying abroad
Country us ($)
A 875
B 735
C 540
D 435

500 -
450 - 430
400
350
300
250
200
150
100

50

A B C D

B accomodation M tutition M living cost
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Sample answer

The table and bar chart illustrate the total spending and the average expenditure per week for

accommodation, tuition and living costs of students studying abroad in four countries.

Overall, it is clear that the cost of studying in country A is the highest. Also, international students in all
countries, except for country D, have to pay the largest amount of money each week for living costs,

while they spend the least on accommodation.

Studying abroad in country A costs $875, which is $140 and $335 more than studying in country B and C
respectively. International students in country D, however, need to pay a significantly lower amount of

money ($435) than those studying in the other three countries.

Overseas students in country A spend an average of $430 per week on living expenses, while those in
country B spend only $350. In contrast, the weekly cost of accommodation in country B is $60 higher
than that of country A, at $280. The figures for tuition fees in both countries are over $300 a week.
Regarding the other two countries, the expenditures for the three categories are all below $300, with

the smallest figure being seen in accommodation in country D, at only $200 per week.
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Topic: In some parts of the world it is increasingly popular to research the history of one's own family.
Why do people want to do this?

Is it a positive or negative development?

Sample answer

People nowadays are becoming increasingly keen to learn about their family history. There are some

compelling reasons for this; and | strongly feel that this is a positive development.

Most people do research on their family history to find out whether their ancestors had similar
personality traits and to have deeper understanding about their family roots and heritage. Others
study their family history background for less significant reasons, one of which is curiosity. For example,
my uncle used to spend a great deal of time and effort tracing my family tree back to the 18th century
just out of curiosity. Also, | think that news media have a major part to play in this trend. There are a lot
of news articles and advertisements these days that encourage genealogy and convince people that it is

necessary to know about their ancestry.

In my view, this is a good way to teach children about history and how their ancestors lived, which is
linked in part to family traditions. And it is even more important for children to carry on such valuable
and unique traditions, given that this fast changing world is somehow making young generations
ignore the spiritual legacy that their ancestors left. On top of that, family history can be a fascinating
topic of discussion whenever there is a family meeting. How my grandparents struggled to raise their
offspring during the Vietnam War, for example, has become my father’s favorite subject when all my

relatives gather for a traditional holiday feast.

In conclusion, people like to study their family history for a variety of reasons as | have discussed, and

personally, | consider this a positive modern trend.

88
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Vocabulary highlights:

1. Have a deeper understanding about their family roots and heritage: hiéu sdu hon vé ngudn géc
va truyén théng gia dinh

2. Tracing my family tree: tra ctru ciy gia pha

3. Geneolagy: bang pha hé

4. lIgnore the spiritual legacy that their ancestors left: bd quén di san tdm linh ma t& tién dé lai
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The graph and chart below give information about the number of new graduates and their

employment in the UK from 1992 to 2002.

The number of new graduates in the UK
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Sample answer

The given graphs show a breakdown of the number of fresh graduates and their employment status in

the UK from 1992 to 2002.

Overall, the number of new graduates appears to have increased over the given period. It is also clear
from the bar graph that the majority of UK students opted to follow professional careers upon

graduating from university.

In 1992, there were roughly 165,000 British students graduating from university. This figure rose
markedly to a peak of about 195,000 in 1997, before dropping thereafter to about 180,000 students in
2002.

As far as their employment status was concerned, careers in clerical and secretarial fields saw a marginal
rise from 9% in 1992 to nearly 20% in 2002. An opposite trend is seen in jobs related to management
and administration, with the figures standing at 20% in 1992 and dropping by 1% 10 years later.
Similarly, the figure for professional careers also showed a downward trend, although much steeper,

from a peak of nearly 60% to its low of around 44%.
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Topic: Some people think it is more important to spend money on roads and motorways than on

public transport systems.

To what extend do you agree?

Sample answer

It is argued that money should be spent on developing roads and motorways rather than on public
transport systems. Personally | think both road and public transport systems have vital roles to play in

modern society, and therefore should be equally invested in.

On the one hand, better road quality increases the level of safety and reduces traffic congestion. In
many cities and provinces in Vietnam for example, the number of road accidents is ever-increasing due
to the condition of the road’s surface. This is clear evidence that the government should spend money
improving the quality of road systems in order to ensure the safety of people. Additionally, building
wider roads and more motorways in big cities like Ho Chi Minh, where traffic congestion is still a major
problem, will help to increase the space for a larger number of vehicles, hence reducing pressure on the

city’s main roads as well as congestion.

On the other hand, better public transport systems are beneficial for the environment and people who
do not have a private vehicle. In fact, some modes of public transport like subways produce less
pollutants than cars and other private vehicles. Therefore, spending money providing people
with access to public transport will improve air quality and reduce pollution. Furthermore, for those
who do not have a private vehicle, such as a motorbike or car, buses and subways are a great choice if

they have to commute daily.

In conclusion, for the reasons above, | believe money would be well-spent on not only roads but also

public transport systems.
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Vocabulary highlights:

1. Ensure the safety of people: Dam bao sy an toan cla ngudi dan

2. Pressure on the city’s main roads: Ap luc [&n cac cung dudng chinh clia thanh phd

3. Providing people with access to public transport: cung cip cho ngudi dan quyén ti€p can
phuong tién cong cong

4. Commute daily: di chuyén di Iam hang ngay

5. Well-spent: dugc chi tiéu hop li
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The maps below compare 2 floor plans of one trade conference held in 2009 and 2010.

2009 2010
main entrance|  registration side entrance main entrance| refreshment side entrance
|, seat
o displ
concert 0 O/ T 2red .5
hall () s
0 O a balcony
Fiere b ith
balcony exhibition g wl
0 O area seat d O lougue
N area
0 meeting concert
stagel room Jexhibition hatl Y () Jetege
0 area O

Sample answer

The given maps depict the differences in the layout of a trade conference during two different years,

2009 and 2010.

Overall, the most striking difference in the layout is that the concert hall and meeting room were both
replaced with a new exhibition area. Additionally, while there was a display area in 2009, it was

removed the following year.

To begin with, the concert hall and meeting room, located in the western part of the conference center
were cleared to make room for a large exhibition area. Another notable detail is that the display area
close to those two rooms was removed. Previously in 2009, there had been a registration area situated
between the main entrance and the side door, however this was moved next to the balcony and

replaced with a refreshment area in 2010.

The south-eastern part of the conference hall also witnessed a significant change in the layout.
Specifically, the balcony in the south-east corner was equipped with a lounge area. Beside the balcony, a
new concert hall, with stage and seating, replaced the exhibition area that had been built the year

before.
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Topic: The responsibility for the protection of the environment is by a transnational organization or

every country?

Sample answer

Some people argue that protecting the environment should be the duty of each individual nation, while
others believe that it should be the responsibility of a multinational organisation. Personally, | believe
that although each country needs to be responsible for the protection of its own natural landscapes,

there should also be an international governing body that monitors each country’s actions.

First and foremost, the protection of the environment should ultimately be the responsibility of each
individual nation and its inhabitants. A healthy and flourishing natural environment is essential for
healthy human societies. The people who live in a country are the ones who will mainly be affected by
environmental destruction and damage within that country, and it is therefore these people who should
be most concerned. When a country pollutes its atmosphere and water-ways with toxic emissions
from heavy industry, the burning of fossil fuels and incorrect waste disposal, the people of that nation
must breathe that contaminated air and utilise that polluted water, and this can have detrimental

effects on people’s physical health and well-being.

However, unfortunately, many countries governments are riddled with corruption and the best
interests of the people are not always maintained. Therefore, it is necessary for an international
organisation to monitor and educate people about the activities occurring within each country with
regards to environmental issues. Many people around the world simply do not realise the short and
long-term impacts that their actions have on the environment, and | believe that education is one
effective answer to help solve this problem. Another cause of concern is that the actions of one
country’s environmental destruction can have negative impacts on nearby neighbouring countries, and

this is where an international organisation can help to monitor such circumstances.

In conclusion, although environmental protection needs to be the responsibility of each individual
nation, there should also be one transnational organisation that educates and monitors environmental
concerns. There are many countries, yet only one planet, and therefore there needs to be cooperation

in order for a healthy and sustainable future.
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Vocabulary highlights:

1. Multinational/ international governing body/ transnational organisation: t6 chirc da quéc gia/
qudc té

2. Pollutes its atmosphere and water ways with toxic emissions: 6 nhiém bau khong khi va duong
dan nudc vdi chat thai doc hai

3. Riddle with corruption: ddm chim trong 6 nhiém

4. Short and long-term impacts: anh hudng ngan va dai han
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The tables give information about the average hours work by part-time and full-time men and women

in three countries in Europe in 2002 and compare them with the European countries.

Average number of hours for full-workers in 2002

Country Women Men
Greece 39.9 42.5
Netherlands 38.0 38.0
UK 37 37.5
European average 39.2 40.4

Average number of hours for part-workers in 2002

Country Women Men
Greece 29.3 30
Netherlands 29.2 28.3
UK 28 29
European average 34 32
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Sample answer

The provided tables illustrate the breakdown of the average time men and women in three European

nations worked in full time and part time positions, in the year 2002.

Overall, males worked more than their counterparts in both types of jobs. Apart from this, Greek people

spent more time working than those from the other countries.

As for the average working hours of full-timers, Greece topped the list with nearly 40 hours for females
and 42.5 hours for males. This was followed by the Netherlands with 38 hours for both genders.
Meanwhile, 37 hours was the total amount of time women in the UK allocated to their work, slightly
lower than that of men with 37.5 hours. In general, in this category, male workers in Europe worked

more than female individuals.

Regarding the figures for part-time workers, it is noticeable that those from Greece still held the highest
position in the list with 29.3 hours for women and 30 hours for men. Similarly, UK males also had more
part-time hours, at 29, compared to 28 hours for females. Conversely, a reverse trend can be seen in the
numbers of men and women in Netherlands, with 28.3 hours for the former and 29.2 hours for the

latter.
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Topic: Writing, reading and maths are the three recognized traditional subjects. Computer skill should

also be the fourth largest branch.

Do you agree or disagree?

Sample answer

With the use of computers in almost every aspect of life, many people argue that computer skills are
becoming an important subject at school besides the holy trinity of writing, reading and math.

Personally, | agree with this opinion for a number of reasons.

To begin with, including computer skills as a compulsory subject at school can help students be better
prepared for their future career. In this era of technology, it goes without saying that computer literacy
is an indispensable requirement that almost every recruiter seeks in a resume. Therefore, in order to
gain and secure a decent job in the future, students definitely should have a good grasp of computers

skills such as Microsoft Office or internet and social media skills.

In addition, teaching computer skills at school means providing students with a versatile tool to be able
to have access to an almost unlimited source of knowledge and information. Students with computer
skills can get access to a large amount of online materials and also take advantage of distance learning,
which facilitates self-study. For example, my 12-year-old sister can now study English pronunciation on
Youtube channels at home by herself thanks to information searching skills she was taught at primary

school.

Finally, regarding entertainment and social life, being armed with just some basic computer skills,
students can also join social networking sites such as Facebook or Twitter to keep in contact with their
relatives who live far away or widen their circle of online friends. They can also approach a wide range

of music websites or online games to help relax after studying.

In conclusion, for the above mentioned reasons, | completely believe that computer skills should be
recognized as one of the more significant subjects besides the conventional ones like math, reading and

writing.
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Vocabulary highlights:

1. Holy trinity: b6 ba than thanh

2. Computer literacy is an indispensable requirement that almost every recruiter seeks in a
resume : thdng thao may tinh 13 mot didu kién khéng thé thi€u ma mdi nha tuyén dung tim
trong hd so xin viéc.

3. Have a good grasp of computer skills: sy thanh thao vé ki ndng méy tinh

4. Have an access to an almost unlimited source of knowledge and information: c6 su ti€p cin tdi
mot ngudn kién thirc va thong tin gdn nhu vo han

5. Widen their circle of online friends: m& rong cdc méi quan hé ban bé trén mang
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Percentage of students by family
economic background in 1991

M low income
H middle income

high income

Total number of students at university in UK

2500000

2000000

1500000

1000000 -

500000 ]

0 - : ; : : :
1991 1993 1995 1997 1999 2001
Government spending on each student (pound)
7000

6500 ™

6000 ‘\\\\\‘\

5500 \
5000 \

4500 . \
1991 1996 2001




L1Z1M

Luyén thi IELTS cam két dau ra

Sample answer

The charts illustrate the number of undergraduates in the UK, government spending on each student
from 1991 to 2001, and compare the percentages of students from different family economic

backgrounds in 1991.

Overall, in 1991 the majority of undergraduates came from middle-income families. Also, in contrast to
the increased number of university students, government spending became less and less toward the

end of the period.

The proportion of university students whose family financial background fell into the middle-income
category was just over 60%, approximately twice as much as that of students from high-income families.

Meanwhile, only 8% of UK undergraduates were from families with low income in 1991.

There was a moderate rise in the number of undergraduates from over one million in 1991 to more than

two million in 1999. This figure then slightly declined to precisely 2000000 two years later.

Despite the overall increase in student numbers, government budgets allocated to support those
students fell substantially from 6500 pounds to around 4700 pounds, a decrease of 1200 pounds in only

5 years. After that, the figure experienced almost no change until the end of the period.
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Topic: In many countries, children are becoming overweight and unhealthy.
Some people think that the government should have the responsibility.

To what extent do you agree or disagree?

Sample answer

Childhood obesity has become a typical sign of deteriorating public health the world over, especially in
Western countries, where massive amounts of unhealthy food is consumed on a daily basis. In this
regard, some people believe governments should do whatever is needed to improve this situation.
However, we should not single out governments as the only ones responsible for combating the

childhood obesity crisis.

The role of a competent and responsible government is to ensure the well-being of its people. That is to
say, if there is any serious threat to the people, as childhood obesity is, the government should be the
one to acknowledge the threat, and implement effective solutions. However, apart from encouraging

regular exercise and healthy eating habits, | do not feel that the government has any further role to play.

The duty to combat childhood obesity should not fall on governments alone, as parents are, for good
reason, a greater source of influence on their children’s life. It can be seen that obese children are
often malnourished because they do not receive appropriate nutrition from their food, a truth that
reveals parents’ poor choice of diet for their kids. This fact also suggests that parents can have a direct
impact on improving their children’s health by choosing healthy eating patterns that contain less sugar
and fat. On the other hand, obesity is also caused by lack of physical activity. This can be exemplified
by the sedentary lifestyle favored by a large number of youth nowadays. Parents are the only ones who

can either encourage, or force, their children to do more physical tasks or exercise.

In conclusion, the government should of course do what they can to curb the obesity epidemic, no
matter how small their impacts might be. However, | feel that the parents of obese children are to

blame, and thus need to take responsibility for their kids’ unhealthy condition.
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Vocabulary highlights:

1. Childhood obesity: béo phi & tudi nhd

2. Ensure the well-being of people: dam bao strc khoé clia nguoi dan

3. A great source of influence on their children’s life: mot nguén dnh hudng I&n dén cudc sdng
cla tré

4. Healthy eating patterns that contain less fat and sugar: ché d6 an uéng khoé manh chira it
dudng va chat béo

5. Sedentary lifestyle: I6i séng thu ddong khéng thé duc thé thao

6. Curb the obesity epidemic: kiém ché& van nan béo phi
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Sample answer

The diagrams illustrate how the layout of a school library changed over a period of five years.

Overall, significant changes have been made in terms of the library’s interior design, especially on the

western side of the library.

A recording studio has been constructed to replace the classroom area. While the meeting room
remains in the same place after five years, the space for the borrowing and returning desk has been

separated into 2 different rooms.

In the center of the library, more private studying tables have been set up for students to study.
Additionally, there were two areas for book shelves in the north and south of the library five years ago;
however, the one in the south as well as the desk for computers on the eastern side of the room has
been converted into desks for student’s laptops. Next to this it can be seen that the library office has

been removed to make way for a new conference room.
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Topic: Anybody can use a mobile phone to answer the work and personal calls at any time or 7 days a

week.

Does this development have more positive or negative effects on both individuals and society?

Sample answer

Technology has come such a long way nowadays that people can make use of their mobile phone to
answer work or personal calls at any time. Although there are some negative consequences of this

development on individuals and society, | believe that they are outweighed by the positive effects.

On the individual aspect, the fact that no work calls are missed could greatly enhance one’s work
efficiency. As we are living in the era of globalisation, the international cooperation between companies
is common and necessary. Being able to make calls and discuss with business partners regardless of time
zones is a great advantage. On a larger scale, this can also contribute to the development of the
economy, thus an increase in the living standard. Furthermore, people can benefit from the fact that
their beloved ones are available for a call at any time. One could seek help from their friends and family
whenever they need, which is especially beneficial in case of emergency. And as the flow of information

between people is constant, society will be connected and move forward.

However, the drawbacks of this development should not be overlooked. Being able to answer calls all
the time means people have less privacy, even in their own home. It also means that workers have to
handle a larger amount of workload and have less quality time for their family. However, the work-life
balance could still be maintained by just a simple act of switching off one’s mobile phone whenever they

leave the office or do not want to be bothered.

In conclusion, despite a few drawbacks, the use of mobile phones for work and personal calls brings

about more benefits to individuals and society.
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Vocabulary highlights:

1. Enhance work efficiency: gia ting nang suat lao dong
2. Era of globalization: thoi dai hoi nhap hoa
3. Case of emergency: trwd'ng hop khan cap

4. Work-life balance: sy can bang gitta cong viéc — cudc sdng
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The diagram below shows the development of a particular area between 1965 and the present day.
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Sample answer

The two maps describe an area before and after some developments from 1965 to now.

As can be seen from the plans, the most notable change taking place in the area is the construction of a

road bridge, which replaces the ferry.

On the northern side of the road bridge, the forest on the left riverside has been cleared to make way
for a large new car park. There is also a small car park which was built on the other side of the river and
this car park can be accessed from the main road via a small path. Many houses and apartments were

constructed around the car park.

To the south of the bridge, more houses were also built along the main road. Apart from these buildings,
there are several changes which are expected to take place by 2018. These developments include a foot

bridge which runs parallel to the main road, a yatch marina and a small car park.



L1Z1M

Luyén thi IELTS cam két dau ra

Topic: Students leave high school without learning the way how to manage their money.

What are the reasons and solutions of this issue?

Sample answer

There is a common problem among high school graduates these days where students are leaving school
without any knowledge or skill in personal money management. This essay will outline a number of

reasons for this trend and a number of possible solutions to help tackle the issue.

Firstly, one of the main causes of this problem is that the majority of high school students live with their
parents and are completely financially dependent upon them. Most students do not need to work to
earn money while at high school, as their parents pay for all their needs, and therefore do not gain any
understanding about the realities of earning and saving money. Usually, the only money that students
receive is from their parents and this is typically in the form of pocket-money, which is given with the
intent of it being spent. Therefore, young people only really learn how to spend money, and not how to

earn, save or manage it wisely.

However, there are a number of viable solutions to help students deal with this problem. Firstly, basic
money management skills could be included as a compulsory subject for students in their high school
years, which would help equip them with the knowledge and skills to manage their own personal
finances when they leave school, move out of home and enter employment. The second possible step
that could be taken to help curb this problem is through education at home. Parents need to take
responsibility to make sure that their children are adequately educated in such matters to ensure their

children maintain a successful and independent financial situation after graduating and leaving home.

In conclusion, although money management is a problem for a lot of school leavers, there are a number

of viable solutions to counteract this problem.
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Vocabulary highlights:

1. Personal money management skills: ki ndng quan li tién bac cd nhan

2. Financially dependent upon parents: phu thudc tai chinh vao bé me

3. Pocket-money: tién tiéu vat

4. Equip them with the knowledge and skills to manage their own personal finances: trang bi cho
ho kién thirc va ki ndng dé quan Ii tai chinh ca nhan

5. Enter employment: bat d4u xin viéc
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Topic: As life expectancy is increasing, people work after retirement with pay. Alternatively, some

people start to work at a young age.

Are these positive or negative impacts?

Sample answer

Over the past few decades, people have become used to the idea that they will have to devote a larger

proportion of their life to working, and some of them even continue to work after the legal age of
retirement. The fact is that as human life expectancy increases, only a small number of jobs will ensure
that people are able to enjoy a comfortable retirement, and therefore, many people are choosing to

enter the workforce much earlier than before. In my opinion, this is a negative development.

| agree that starting to work at a young age is advantageous for young people, but they should only
consider this as a way of gaining experience. Having a job while studying with the aim of saving money
to enjoy retirement is both unrealistic and counter-productive. For one, most part-time jobs students
can do, like bartending or tutoring, only offer quite low salaries, certainly not enough to contribute to
their retirement. Also, many high paying jobs, such as lawyers or doctors, require a qualification that can

take up to 6 years to acquire, and therefore are not possible for young people to do at a young age.

On the other hand, people nowadays are still fit to continue working well into their sixties or even
seventies. | believe working keeps people not only mentally but also physically healthy, which is
extremely important for the elderly. For example, my grandfather admits that he felt so bored and
unhealthy after retirement that he had to set up a workshop near his house and has been working there
ever since. This example also suggests that people should not consider working at a younger age as a

way to save money for retirement.

In conclusion, | understand there are reasons for young people to start their working lives earlier than
the generations of their parents or grandparents. However, working after the retirement age is a way to
enjoy a longer life expectancy, and therefore there is no obligation to have a job and save money from

an earlier age.
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Vocabulary highlights:
1. Devote a large proportion of their life to working: c6ng hién phan |&n cudc doi dé lam viéc
2. Enjoy a comfortable retirement: tin huwdng viéc nghi hwu that thoai mai
3. Counter-productive: phan tac dung

4. Mentally but also physically healthy: khoé manh ca vé tinh than va thé chat
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The tables below show results of a survey of urban residents’ opinions related to various aspects of

life in 1980 and 2010.

1980
Good Neither good or bad Bad
Education 82 17 6
Shops 75 11 14
Environment 72 20 8
Healthcare 64 24 12
Transport system 54 31 14
Accommodation 56 34 10
2010
Good Neither good or bad Bad
Education 76 13 11
Shops 81 9 10
Environment 64 16 20
Healthcare 83 10 7
Transport system 67 22 11
Accommodation 65 17 18
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Sample answer

The tables compare the data of how residents in an urban area assessed six different aspects relating to

their life in the years 1980 and 2010.

Overall, most people had good opinions about all the given categories. Apart from that, education and
healthcare were the most highly-ranked, while shops, transport, environment and accommodation

received the highest amount of negative feedback.

In 1980, 82% of respondents said that education was good, while 75% and 72% of people rated the
shops and environment as also being good. Meanwhile, only 54% and 56% of surveyed individuals said
they were satisfied with the transport system and accommodation. They were, however, the two
aspects having the greatest number of neutral opinions, 31% for the former and 34% for the latter.
Regarding negative feedback, 14% of residents both thought the shops and transport system were bad,

which was double the number for negative feedback about education, at a mere 6%.

Over the span of three decades, the data for all aspects considerably changed. In particularly, the
opinions of healthcare services and shops were increased, to 83% and 81%, in turn holding the top
ranks. Conversely, opinions regarding the environment and accommodation decreased, with the
quantity of negative opinions climbing to 20% and 18% respectively, much higher than that of
healthcare with at only 7%. Lastly, neutral opinions related to all aspects dropped significantly over the

30 year period.
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The best way to reduce youth crimes is to educate their parents with parental skills.

To what extent you agree or disagree?

Sample answer

It is true that more and more young people are getting involved in crime, and the best way to address
this critical issue is an ongoing debate. There are many ways to prevent youth crime, one of which is
better parenting skills; however, those ways need to be carried out simultaneously if they are to be

effective.

On the one hand, parents are the closest people to their children and are the most likely to be able to
have an impact on their children’s behavior. In fact, the large majority of youth crime nowadays is the
result of inappropriate parenting, and a lack of childcare and crime education. Therefore, it is totally

reasonable to say that improving parenting skills will cause a decrease in juvenile offences.

However, education at home alone is not enough since there are a lot of kids who are not willing to
listen to their parents. In this day and age, children spend the largest amount of time at school, and
therefore are more likely to be influenced by their teachers or friends. For example, in my home country
of Vietnam, many high school students are susceptible to negative peer pressure. This usually leads to
the increasing use of alcohol or drugs, all of which are primary contributors to crime at this age. These
facts suggest that we should introduce education in the school curriculum about the consequences one

may face when committing an offence, as well as help children manage negative peer pressure.

In conclusion, enhancing skills to educate children at home is a good way to curb juvenile
delinquencies; however, | think there is no single best way to achieve this as different measures need to

be taken at the same time.
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Vocabulary highlights:

1. Result of inappropriate parenting and a lack of childcare and crime education: két qua cla viéc
lam cha me khéng dung cach va thiéu sy chdm sdc cling nhu gido duc vé ti pham

2. Juvenile offences: pham t6i & tu6i thanh nién

3. Susceptible to negative peer pressure: dé& bj anh huwdng bai ap lwc tidu cue tir ban be

4. Curb juvenile delinquencies: kiem h3m sy pham tdi & tudi vi thanh nién
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Topic: More and more people in the city live in homes with small spaces or no outdoor areas.

Do you think it is a negative or positive development?

Sample answer

With the growing population of cities, more city dwellers are having to live in cramped houses with no
outdoor spaces. In my opinion, this trend brings about both positive and negative aspects, however, |

believe its advantages outweigh the disadvantages.

On the one hand, there is no denying the fact that when living in a tiny home without big windows and
sufficient green space nearby, residents will be prone to some negative feelings. This is due to the fact
that residents do not have any space for recreational activities, such as watering flowers or playing with
their pets, after dealing with a heavy workload or stressful day. They therefore may feel exasperated

within their apartments, and this can lead to a number of mental health problems such as depression.

However, although living in tiny houses possesses some downsides, the potential benefits are also
numerous. The initial advantage is that living in a small house prevents frivolous spending on items that
are only used to fill a space rather than to fulfil a function, helping people to be more disciplined with
money. Along with buying less stuff because they have no room for it, they will also avoid wasting time
on maintaining all that stuff. Small houses, moreover, encourage family bonding, creating an
environment where family members can get organized and make the home a happy place. In
comparison to larger accommodation, where there are separate rooms for each member, small homes
offer a common living space for the whole family, which will provide more opportunities for the family

to talk and share stories and feelings.

In conclusion, although small houses can be possibly detrimental to the occupant’s feelings, | still believe
that living in limited space seems to be more beneficial to city dwellers when it comes to good financial

management and family bonding.
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Vocabulary highlights:

1. Be prone to negative feelings: dé& cé nhitng cdm xuc tiéu cuc

2. Recreational activities: hoat d6ng giai tri

3. Family bonding: su gan bé gia dinh

4. Offer a common living space for the whole family: tao ra khéng gian sinh hoat chung cho ca gia

dinh



L1Z1M

Luyén thi IELTS cam két dau ra

14/10/2017
Australia's trade with China Australia's trade with Japan
80 80

60 60 //\\
" \f ®
20 20

2002 2005 2008 2002 2005 2008

Australia's trade with the US

80

60

40 Export
I e |Mmport

20

O T T T T 1
2002 2005 2008

Sample answer

The line graphs show data on Australian trades with three other countries, namely China, Japan and the

us.

The initial impression from the graphs is that Australia appeared to earn the highest revenue from
exports to Japan. Additionally, Australian-American import-export values remained relatively static over

the given period.
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Regarding trades between Australia and China, exports underwent a gradual decrease from
approximately 43% in 2002 to 40% in 2008. The figure for imports from China stood at about 30% and
showed an upward trend to a high of around 43%, despite having an unexpected dip of about 3% in

2005.

Australia’s exports to Japan, after remaining stable for the first three years, soared to its peak of over
AUS60 million in 2005, after which this figure halved to about AUS$30 million in 2008. Meanwhile,
imports from Japan remained consistent at a value of approximately AUS$37 million throughout the

period.

Trades between Australia and the US appeared to be the most stable, with both import and export

values stabilized at around 23% and 40% respectively.
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Topic: There have been many inventions in the human history, such as the wheel. Some people think

the most important thing is the internet.

To what extent do you agree or disagree with this opinion?

Sample answer

It is true that throughout history, humans have come up with various invaluable inventions. Nowadays,
there is an opinion that among all the things that have been devised, the internet is the most significant.
Although the benefits of the internet in modern life are undeniable, | believe that its importance is still

outweighed by two other inventions, namely, electricity and computers.

To begin with, it is obvious that the appearance of the internet has brought about numerous advantages
to people’s lives. Firstly, thanks to this advanced technology, many people now have access to many
useful sources of information that are necessary for their work or study. To be more specific, nowadays,
information about various fields and aspects of life is shared freely online and available to everyone with
an internet connection. People can therefore easily search for anything that they want within a very
short amount of time. Secondly, the emergence of online-based communication tools has
revolutionised the way people communicate. By using social networking websites and applications,
people can keep in touch with their friends or relatives despite large geographical distances, eliminating

the need for old-fashioned and time-consuming tools, such as letters.

However, from my perspective, despite the mentioned merits of the internet, the role of the two
following inventions is still more significant. First of all, since first being put into use in the early 19t
century, electricity has totally changed the lives of people around the world. This form of energy has set
the platform for many other electrical-based inventions, including a number of technological devices
and the internet, as well as become an indispensable part of the modern world. In addition, for the
internet to be as commonly used as it is now, the prevalence of computers should also be taken into
consideration. Since the first model was created, computers have played a vital role in modern society
as a tool for sending, storing, and receiving data for various purposes and even laid the foundation for
the appearance of the internet. Without this device, the internet might not have even been invented in

the first place.

In conclusion, although the benefits of the internet are obvious, | do consider that electricity and

computers are still more valuable in the world nowadays.
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Vocabulary highlights:

1. The emergence of online-based communication tools: su xuat hién cla cidc phuong tién giao
tiép online

2. Eliminating the need for old-fashioned and time-consuming tools , such as letters: loai bd sy
can thiét clia nhirng céng cu 16 thoi va ton thoi gian nhw 13 thu

3. Set the platform for many other electrical-based inventions/ lay the foundation for the

appearance of the Internet: d3t nén méng cho...
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The pie charts indicate changes in the proportions of energy produced in a country from 1983 to 2003.
Summarize the information by selecting and reporting the main features, and make comparisons
where relevant.

1983

m Hydropower

u Oil

= Nuclear power
= Coal

® Natural gas

2003

B Hydropower

= Oil

= Nuclear power
= Coal

® Natural gas
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Sample answer

The given pie charts depict data regarding the percentage of energy generated from five different
sources (Hydropower, Qil, Nuclear power, Coal, Natural Gas) in a particular country between 1983 and

2003.

In general, it is clear that oil was the most popular source of energy in both years despite a slight

decrease. In addition, this country also relied more on using nuclear power and natural gas by 2003.

To begin with, in 1983, oil and coal were used to produce 42% and 23% of the total energy, respectively.
Over the next 20 years, the proportion of energy produced from oil saw a slight decline by 4%, while

energy from coal also reduced by 10%.

In contrast, there was a reverse pattern in both figures for nuclear power and natural gas, which
increased by 4% and 10% respectively to collectively surpass the percentage of energy generated from

coal. On the other hand, hydropower was responsible for only 4% of energy produced in both years.
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Some people say that the increasing business and cultural contact between countries is positive

development, while others think that many countries will lose their national identities as a result.

Discuss both views and give your opinion

Sample answer

Nowadays, due to globalization, international business and cultural communication have become more
prevalent on a global scale. Although some people believe that it has a negative impact on a countries
identity, in my opinion, business and cultural exchanges between countries surely has more positive

effects than drawbacks.

On the one hand, those who are worried about international trade and cultural exchange argue that this
trend is detrimental to the culture and tradition of many countries in a number of ways. To be more
specific, international trade has not been entirely beneficial for many developing and third world
countries. The reason being that, the inflow of foreign capital only for export purposes causes the
neglect of production in the domestic sector. Thus, despite large foreign investments, peoples’ lives in
these countries have been minimally enhanced. With regard to cultural exchanges, this can lead to the
possibility of losing traditions and customs in local communities. This is simply because a large number
of individuals in these communities adapt quickly to foreign cultures in the attempts to conform to
ideals not of their own, which can have devastating effects. A typical example of this in the 20" century
is when parts of Cherokee Indian culture and heritage in the USA were lost due to the eagerness of

adapting to the culture of the European settlers.

On the other hand, | do believe that the positive outcomes of cross-cultural activities and international
trade are immense. Firstly, thanks to the rapid advancement of modern technology, internet users have
access to intellectual property, such as films and music, of other countries. The international trade and
business opportunities have helped global citizens to purchase and sell products at a competitive price,
which allows them to have far more options nowadays than in the past. In addition, borrowing from
other cultures can be a positive exchange, as it is conducive to gain a mutual respect and understanding
for new cultures. Providing that international students have opportunities to learn about other cultures,
they are more likely to not only build personal relationships, but also learn about these cultures from a

local perspective, from which they can greatly benefit.
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In conclusion, | believe that protecting culture and tradition depends on each country, and these would

not be harmed from business and cultural exchanges with other nations.

Vocabulary highlights:

1. Inflow of foreign capital only for export purposes: dong tién ngoai té chi cho muc dich xuét
khau

2. Neglect of production in the domestic sector: su bd bé san xuat trong nudc

3. Eagerness of adapting to the culture: su hdo hirc thich nghi véi nén vdn hod

4. Cross-culture activities: cac hoat dong da van hoa

5. Intellectual property: s& hitu tri tué



L1Z1M

Luyén thi IELTS cam két dau ra

28/10/2017

The percentage of 3 types of crimes: car theft, house burglary & street robbery in England & Wales
from 1970 to 2015
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Sample answer

The given line chart depicts information about the percentages of three separate types of crime (car
theft, house burglary and street robbery) were committed in two countries during the years between

1970 and 200o0.

Overall, the most striking feature of the graph is that the percentage of car thefts witnessed the most
dramatic change and was always higher than that of the other two crime categories during the surveyed

period.

In more detail, in 1970, the proportion of car theft accounted for exactly 0.4%, slightly higher than that
of house burglary, at approximately 0.3%. Car theft rates witnessed a significant rise of 0.4% in the next
five years before soaring to a peak of 1.4% in 1985, which was also the highest figure for all crimes and
years in the chart. Meanwhile, the figures for house burglaries increased gradually to just under 0.4% in
the initial ten years before climbing to precisely 0.6% in 1990. There was a remarkable fall to 0.8% and

0.4% in the data for car theft and house burglary, respectively.

Figures for street robbery however, remained practically unchanged over the years, fluctuating slightly,

between approximately 0.1% to 0.18%.
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Topic: Student learn far more with their teachers than other sources (the Internet or television).

To what extent do you agree or disagree?

Sample answer

Some people say that students learn much more from their teachers than they do from other sources of
education, such as the internet or television. Personally, | believe that although people now have access
to huge amounts of information via the internet and television, teachers do play a crucial role in a

student’s learning.

On the one hand, it is undeniable that people now have access to a seemingly unlimited amount of
information via the internet. This now makes it possible for some people to completely educate
themselves in almost any area of knowledge without leaving the comfort of their own home. With the
use of such websites like Youtube, Kahn Academy, Alison, and other educational sites, people can learn
and study from a huge range of subjects and topics. In addition to this, the increase in television
channels in the past couple of decades has also provided people with further potential sources of

education.

However, although there is a wealth of information at people’s fingertips these days, finding and sifting
through the large amounts of material, to find accurate, reliable sources can also present a problem,
and this is where teachers can be of great benefit. Part of a teacher’s job is to have good knowledge of
the subject they are teaching, and this can ensure that students learn from accurate and reliable
knowledge. Another benefit that teachers bring is guidance. Teachers are trained to guide students
through their learning, by knowing different student’s needs and abilities and the most effective

methods of teaching them, thereby enhancing the productivity of their learning.

In conclusion, although there are vast amounts of information that can easily be accessed by all people, |

believe that teachers do play a vital role in the learning process of students.
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Vocabulary highlights:

1. Educate themselves in almost any area of learning: tw gido duc ban than trong moi linh vuc

2. Wealth of information at people’s fingertips: mot bién tr&i kién thirc trong tam tay lodi ngudi

3. Ensure that students learn from accurate and reliable knowledge: chac chan rang hoc sinh hoc
nhirg kién thirc chinh xac va dang tin cay

4. Enhance the productivity: ting cwong hiéu suat

5. Learning process of students: qud trinh hoc tap cla hoc sinh
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The charts below show the proportion of people’s total spending in a particular European
country was spent on different commodities and services in 1958 and in 2008.

Sales in 1958 Sales in 2008

by

The pie charts detail the proportion of people’s total expenditure on six different goods and services

® Housing
® Food

u Clothing

«

m Travel/transport
H Entertainment

® Luxury goods

v

2 Sample answer

(housing, clothing, entertainment, food, travel/transport, and luxury goods), in a European country, in

1958 and 2008.

It is clear from the charts that spending in all aspects, except clothing, changed quite substantially over

the fifty year period.

In 1958, people spent the largest portion of their spending on food, at 32%. The two other categories
that took up the majority of people’s money were housing, at 22%, and clothing at 18%. Entertainment,
travel/transport and luxury goods only comprised around a quarter of all spending at 18%, 8% and &%

respectively.

50 years later spending changed quite significantly with housing now becoming the biggest expense and
taking up almost one third of total spending, at 32%. The expenditure on clothing, transport/travel and
luxury goods all increased and all took up around 16-17% of the total spending. The expenditure on food

dropped significantly to 12%, while entertainment costs were only half of that.
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Topic: The aging population is good for business, the economy and society. Others disagree.

Discuss both views and give your opinion.

Sample answer

People in the modern world are experiencing a longer life expectancy, which raises questions as to
whether this is advantageous or disadvantageous to society. This essay will discuss both sides of the

argument.

On the one hand, an ageing population increases the government’s pension costs and competition for
jobs. An increase in the proportion of the elderly in the population puts greater pressure on the pension
system as it will be harder to finance their retirement. This results in the growing burden on the
Government and, therefore, taxpayers. Even more problematic is when the legal retirement age is
extended, young people will find it more challenging to seek employment. Due to this lack of young
labor, less innovation and change will take place, making organizations less dynamic and hardly able to

stay competitive.

On the other hand, the main advantage of people living longer is that there will be more volunteers in
social work. The elderly in many countries contribute free labor to community and government
projects after retirement because they are usually financially comfortable and find pleasure in giving
back to their communities and countries. Furthermore, the elderly can uphold morals and values in a
community. They can help pass on traditions and ways of life to younger generations, which is
particularly advantageous in countries like Vietnam, where cultural values are becoming less and less

significant to young people.

In my view, it is true that there are several problems associated with an ageing population; however,
those problems only do a little damage to the development of society. | personally think when people

live longer, society as a whole will be able to reap greater benefits.
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Vocabulary highlights:

1. Put greater pressure on the pension system: tao 4p lwc |&n hon 1én hé thdng lwong huu

2. Seek employment : tim kiém viéc lam

3. Contribute free labor to community and government projects: déong gép luwc luvong lao dong
mié&n phi cho cong déng va cac dv an cla chinh phi

4. Uphold morals and values in a community: gin gilr cac gia tri va dao dirc trong cdng dong

5. Reap greater benefits: gat hai nhirng lgi ich I&n hon
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Waste disposal in one European country (2005 - 2008)
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Sample answer

The bar chart details the amount of waste that was disposed via landfill, burning and dumping at sea, in

a particular European country between 2005 and 2008.

Overall, it can be seen that while landfills initially were the main method of waste disposal and burning

the least used method, the trend slowly reversed over the four-year period.

In 2005, disposing of waste via landfill was significantly the most preferred method of disposal with
1800 million tonnes of trash being buried. The amount of trash dumped at sea was only a third of this, at
600 million tonnes, while the amount of trash that was burnt was around 500 million tonnes. In 2006
the amount of waste buried in landfills had reduced substantially by 600 million tonnes, to 1200,
however the amount of waste that was burnt or disposed of at sea only increased by 50-100 million

tonnes.

In 2007, the waste the was buried and dumped at sea both dropped to about 900 and 600 million
tonnes respectively, while the amount of trash burnt rose to around 700 million tonnes. By 2008,
burning of waste was the preferred method of disposal, at 900 million tonnes, with landfill waste down
to only 600 million tonnes, a third of the figure from four years earlier, and only approximately 550

million tonnes of waste dumped at sea.
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Topic: It is difficult for people in the cities to get enough physical exercise.

What are the causes and solutions?

Sample answer

In recent years, maintaining physical fitness and overall well-being has become one of the top priorities
for people. One of the most effective method is exercising, yet many city dwellers find it challenging to
exercise frequently. This essay will analyze some of the reasons as well as propose some feasible

solutions to this concern.

On the one hand, a lack of physical exercise is caused by several factors. First, a large proportion of the
city population devote all their time to working and such a commitment reduces the amount of spare
time and energy for exercising. In addition, the sedentary lifestyle that many young people nowadays
prefer is another contributor to this issue. Since most teenagers and young adults are used to spending
most of their time sitting in front of the TV screens or surfing social networking sites, physically

exhausting activities seem unnecessary and unappealing.

On the other hand, there are numerous measures that the government could do to improve the
situation. To begin with, a new law that shortens the average working hours should be introduced. If
workers are allowed to leave work early, they will be able to spend time pursuing healthy activities and
habits. Secondly, more financial resources should be allocated to educating city residents, especially the
young generations, about the paramount importance of physical exercise. An online propagation
campaign about the potential health risks of sedentary behaviors on popular websites such as
Facebook and Twitter, for example, will serve as a warning for people who do not exercise enough and

in turns, encourage a healthier lifestyle.

To sum up, citizens of many big cities, although fully aware of the vital role of physical exercise, still
confront many difficulties in making it a habit, and two main solutions including reducing working hours

and raising people’s awareness can help tackle this problem.
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Vocabulary highlights:

1. Maintain physical fitness: Giit sirc khoe thé chat

2. City dwellers: Ngudi séng & thanh phé

3. The sedentary lifestyle: L6i séng it van dong

4. Physically exhausting activities: Nhitng hoat dong t6n thé luc

5. Pursuing healthy activities and habits: Theo dudi nhitrng hoat d6ng va théi quen 8t cho sirc
khoe

6. An online propagation campaign: Chién dich truyén théng online

7. The potential health risks of sedentary behaviors: Nhitng rui ro sitc khée ctia nhirng hanh vi

ludi biéng
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Topic: People in many countries are spending less time with their family.

What are the reasons, and effects of this?

Sample answer

In many parts of the world nowadays, family members are spending less time together. My essay will

outline a number of reasons for this trend and a number of its associated effects.

One of the main reasons is that adults are too occupied with their work and social relationships. In
countries like Japan where people spend the major proportion of their life working, many adults tend to
stay at work until late evening and hardly have enough time to have dinner or to watch TV with other
family members. Meanwhile, young children in this day and age are under great pressure from study;
and children typically in Asian countries usually spend 10 hours a day and 6 days a week at school, not to
mention extra classes in the evening. The amount of everyday homework those children have to do is
also excessive, and therefore they cannot think of anything else, let alone spending time with their

parents.

There are several impacts from this trend, and they all tend to be detrimental. Firstly, young children
who do not have time with their siblings or parents are often more vulnerable to social pressures, such
as bullying, because they do not receive enough affection and encouragement from their family. In
reality, those children may grow up with low self-esteem and sometimes depression. Secondly, family
relationships will greatly suffer because it will become more difficult to bridge the generation gap
between parents and children without family bonding time. This usually leads to conflicts and

unhappiness.

In conclusion, people are having less and less time with family largely due to work and study pressures,

and the impacts of this on both individuals and families are severe.
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Vocabulary highlights:

1. Beunder great pressure from studying: chiu nhiéu ap luc tir viéc hoc hanh

2. Are often vulnerable to social pressure: dé bi t6n thuwong trudc ap luc xa hoi

3. Grow up with low self-esteem and somtimes depression: |&n |&n v&i sy ty ti va thing thoang la
tram cam

4. Bridge the generation gap: ndi lién khoang céch giita cac thé hé
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TASK 1

The pie chart below shows information about where coffee is produced, consumed and where is

profit goes.

Summarise the information by selecting and reporting the main features, and make comparisons

where relevant.

2%
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m South America
m Central America
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Oceania

M Japan
m South America

m Central America

Asia

27% m explorer

m producer

shipper

seller

55%



L1Z1M

Luyén thi IELTS cam két dau ra

Sample answer

The pie charts show a breakdown of the production and consumption of coffee in particular regions, and

how the profits are distributed.

The initial impression from the charts is that whilst Central America is recorded to be the number one
coffee producing region, it is Europe that consumed that highest amount of coffee. Additionally, the

majority of the profit earned from this industry goes to the shippers.

As far as coffee production is concerned, 44% of coffee is produced in South America, making it the
leading supplier of coffee world-wide. This is followed by Africa (19%), Asia (18%) and Central America
(17%). Meanwhile, Oceania only constituted a modest 2% of the total coffee production. Regarding
coffee consumption, Europeans appear to consume the most coffee, with the figure accounting for
more than half. This is in marked contrast to the figures for North America and Japan at only around

10%. The remaining 27% belongs to other unspecified regions.

Profits made from the production, transport and sale of coffee are not evenly shared among the all
those involved in the process. Shippers received as much as 55% of the profits, which is also the highest
proportion of the profits. Sellers ranked second with 25%, while the remaining 20% is evenly divided

between explorers and producers.
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Topic: The news media have become too much influence in people lives today and this is a negative

development.

To what extent do you agree or disagree?

Sample answer

The news media have long been a great part of our lives. In my opinion, contrary to its original objective

of ‘spreading factual news to people’, the media nowadays do more harm than good.

Television and the press, whether conventional or online-based, have influenced virtually every aspect
of our lives. Pop fans rely on tabloids to keep themselves informed of their idols’ lives. Those who are
more concerned with global affairs say that the tensions between Israel and Palestine could not reach
them without the assistance of the news media. Indeed, the media have become our extended eyes
and ears, and it is not an overstatement to say that a day without reading a paper or surfing the internet

and we would be completely ignorant of what’s happening in the surrounding world.

Sadly, such great influences have gradually driven our society in a negative way. Firstly, the media
submerge our society in a horrendous, ever-changing whirlwind of terror and anxiety. Too much news
coverage of terrorism, war, killings and racism can be found on every news site on the internet, and its
impact is so strong that it causes great distress to citizens and can incite violence among many
individuals. Furthermore, our perceptions and perspectives are likely to be manipulated by the news
media, for they are our only source of information. Indeed, we form our opinions about a particular
event based on what we gather from media reports, regardless of the degree of authenticity. Distorted
news leads to distorted minds, social unrest, unjust judgment and global conflicts; which all take their

roots from distorted news.

In conclusion, | believe that the news media has a direct influence on our minds and lives, and it appears
to be detrimental to our way of thinking. Therefore, people need to make good judgments over what

they read in their daily newspaper.
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Vocabulary highlights:

1. Without the assistance of the news media: ma khdng cé su trg gilp cla phuwong tién truyén
thong

2. Submerge our society in a horrendous, ever-changing whirlwind of terror and anxiety: nhan
chim x3 hdi chuing ta trong mot vong xody khing khiép va khong bao gio thay déi cta su lo ldng
va ndi s& hai

3. Causes greate distress to citizens and incite violence: gy ra néi dau budn va khuyén khich bao
lwe

4. Degree of authenticity: mirc d6 tin cay

5. Take their roots from distorded news: bat nguon tir tin tlrc khdng dang tin cay
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Topic: Schools are no longer necessary because children can get so much information available

through the Internet, and they can study just as well at home.

To what extent do you agree or disagree?

Sample answer

Since there is a wealth of information available on the Internet, students can study by themselves at
home just as effectively as they do at school; and therefore some people believe that schools are not
needed anymore. In my view, much as | agree that students can study well at home with the help of the

Internet, | feel that schools play a vital role in our society and cannot be replaced no matter what.

There are ways for children to learn from the Internet, most of which are either free or affordable for
almost everyone. One great way is from online newspapers and video websites such as National
Geographic and Youtube, which offers a variety of topic areas suitable for people of different ages.
Children can learn a great deal of knowledge about culture, science, and many other areas which they
are taught at schools. Also, they can participate in online courses favored by a growing number of
youths nowadays. This type learning is even more advantageous in the sense that children can flexibly

choose to study whatever subjects they are interested in.

That being said, my conviction is that formal education is irreplaceable in any society. It is true that
students can acquire knowledge at home very easily with the help of the Internet; however, lack of
teachers’ guidance and peer support is a clear disadvantage to this form of learning. These factors are
extremely important to a child’s intellectual development, which emphasizes the necessity of school
environments. Furthermore, knowledge and skills are not the only things to expect from formal
education but social relationships and mental development. Children who go to school and establish

friendships can both have fun and improve their learning outcomes.

In conclusion, the Internet is a good way for young children to study at home, but | think that claiming

schools are irrelevant to children’s learning because of this is merely absurd.
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Vocabulary highlights:

1. A wealth of information: Rat nhiéu théng tin

2. Online newspapers and video websites: B0 mang va cac trang web video

3. Agreat deal of knowledge: Luong |&n kién thirc

4. Flexibly choose to study whatever subjects they are interested in: Linh déng chon hoc bat ct
mon gi ho thich

5. Acquire knowledge: L3y kién thirc

6. Lack of teachers’ guidance and peer support: Thi€u sy hwdng dan va hd tro cla gido vién va
ban be

7. Achild’s intellectual development: Sy phat trién tri tué cia mét dira tré

8. Formal education: Gido duc trwong hoc

9. Social relationships and mental development: Cic méi quan hé xa hoi va sy phat trién tinh than

10. Establish friendships: Thém ban mdéi

11. Improve their learning outcomes: C3i thién két qua hoc tap

12. Irrelevant to children’s learning: Khong lién quan dén viéc hoc cla tré em
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Topic: People think that children nowadays have more freedom.

To what extent do you agree or disagree?

Sample answer

It is generally believed that children nowadays are granted more freedom than those in the past. While |
think, to a certain extent, they do have the freedom to do some things that their parents and
grandparents were probably not allowed to do in the past, | do believe they are in fact being put in a

different cage that only exists in modern society.

Indeed, children nowadays have fewer boundaries in several aspects of their lives which were once
considered inappropriate. Compared to 30 years ago when kids who dyed their hair were considered
rebellious, school children nowadays are able to attend school with whatever hair color they choose,
since most modern schools have relaxed their rules regarding students’ appearance. Furthermore,
some parents who are less strict with the way they raise their children even go so far as to let their kids
decide almost everything affecting their lives, from what to eat for breakfast to which secondary school
they will study at. Therefore, it is not an overstatement to say that children in this day and age are

technically treated like adults, given the amount of leeway they are granted.

However, the 21% century has established other confinements that restrict children’s freedoms. Firstly,
the fear of insecure surroundings has made parents hesitant to let their children out of their sight or
control. Playing football with the neighborhood kids is no longer a beautiful image in parents’ eyes since
they have become too concerned with the possibility of their children being kidnapped or murdered,
and therefore, many parents arrive at the conclusion that it is better to have their children by their
protective side. Secondly, children these days tend to confine themselves to the virtual worlds of
computer games and social networking sites. They voluntarily narrow their worlds to a handful of
platforms, like Instagram, Facebook and online games, with their lives centered around updating their
status, posting selfies and being involved in online virtual warfare, and as a result, they are becoming

enslaved to such platforms.

In conclusion, children these days are indeed free of some restrictions, however have to deal with other
issues related to modern times. Good parenting should aim to give children both extended freedom

and, at the same time, protect them from other potential hazards that lurk in our modern day societies.
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Vocabulary highlights:

1. Putin a different cage: bi gidi han theo mét phuwong thic khac

2. Have relaxed their rules regarding student’s appearance: nwong nhe luat an mac
3. Confinements: si giam ham

4. Center around: xoay xung quanh

5. Become enslaved to such platforms: bi phu thudc vao ...
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Topic: Some people think that children should start school at a very early age, but others believe that

chilren should go to school until they are older.

Discuss both views and give your opinion.

Sample answer

People have different views about whether children should start their formal education as early as
possible or delay it until they are older. Personally, | believe an early commencement of study would be

far more beneficial than a later start.

Firstly, starting school at a young age would generate a number of positive outcomes. Undeniably, the
younger an individual is, the easier it is for them to acquire new knowledge and information. As a result,
these children would have a head start over their peers pursuing higher education. Besides this, they
would have more opportunity to figure out their natural talents. Most Vietnamese children, for
example, are sent to kindergarten at the age of 3 or 4 where they are taught basic skills such as addition
and subtraction. After a couple of months, those showing potential will be further cared for by teachers
with an aim to train them to become specialized students who can represent their school in national and

international competitions in the not-too-distant future.

On the other hand however, several individuals advocate a later start to formal schooling due to a
number of reasons. It is believed that commencing school at a later age will offer kids more time to
learn many things via their parents at home. As a result, these children will become more mature and
integrate more easily into the educational environment in the upcoming years. In addition, it might also
be more beneficial for children to have a childhood in which they can cultivate their own skills and

interests through normal activities at home.

Personally, | believe that such ideas are flawed because delaying schooling reduces the opportunity for
social interaction. Despite being safe with their parents at home, children would have fewer chances to
engage in extracurricular activities which would equip them with vital soft skills including teamwork
and communication skills. Not to mention, while not at school, many children tend to lead an unhealthy

lifestyle as their free time is devoted to online games, which gradually isolate them from society.
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To conclude, | do believe that it would be well-advised that parents send their children to school at an

early age.

Vocabulary highlights:

1. An early commencement of study: viéc hoc sém

2. Head start: kh&i dau trudc

3. Formal schooling: viéc hoc chinh thirc

4. Vital soft skills including teamwork and communication skills: ki nding mém quan trong bao
gdbm ki nang lam viéc nhdm va giao tiép

5. Well-advised : khén ngoan
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The graph below shows the number of overseas visitors to three different areas in a European country
between 1987 and 2007.

Overseas visitors to three different areas in a European
Thousands country between 1987 and 2007
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Sample answer

The given line graph depicts information about how many foreigners visited three separate regions in a

European nation, during the span of a 20-year period from 1987 to 2007.

Overall, the most notable detail is that those three regions all attracted an increasing number of
foreigners. In addition, the lakes’ tourist figures witnessed the most dramatic change among those

given.

In more detail, at approximately 10,000 visitors in 1987, the quantity of foreign travelers who were
attracted to the lakes gradually rose to around 50,000 in 2000, before peaking at approximately 75,000
tourists in 2002, This figure then dropped back down to approximately 50,000 people in 2007.

With regards to tourist numbers in coastal and mountainous areas, the overall figures increased,
however mountainous areas remained the least attractive travel option out of the three. In 1987, the
number of those who chose the coast as a travel destination stood at 40,000, compared to only 20,000
travelers who went to the mountains. In the next 14 years, the coast witnessed a slight decrease in the
quantity of visitors by a few thousand, which was followed by a significant climb to around 60,000
people, whereas the number of those visiting mountainous areas went up remarkably to 30,000 in 2001.
In the final 6 years, while the quantity of overseas tourists going to the coast rose moderately to above

70,000, there was a slight climb in those who paid a visit to the mountains to about 35,000.
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Topic: The users of social media, such as Facebook, Twitter, are replacing face-to-face contact in this

century.

Do you think the advantages of this way outweigh the disadvantages?

Sample answer

It is claimed that modern technological tools for communication, including social media, are gradually
replacing direct contact among people. From my perspective, the drawbacks of this trend totally

overshadow its merits.

To begin with, it is true that the emergence of social networking websites and applications such as
Facebook have revolutionized the way people contact one another. To be more specific, nowadays,
regardless of geographical distance, people from most places on the planet can send messages or make
use of video calls to keep in touch with their loved ones, eliminating the need for people to gather in
one place for face-to-face conversations. In terms of business, thanks to the invention of online-based
communication tools, including Facebook and Viber, people working in enterprises can conduct their
meetings via the internet, also eliminating the need for people to be in the one place to conduct a
meeting. As a result, face-to-face conversations are gradually being replaced by virtual communication

exchanges.

However, the aforementioned merits are totally eclipsed by the potential negative drawbacks of this
trend. Firstly, in this technological era, with the development of online communication tools, it can be
seen that many people are substituting their real-life relations with digital communication. In fact, a
large number of young people nowadays tend to prefer making friends via means of social media, such
as Facebook and Twitter, to gathering at a real place. In the long term, this would gradually alienate
people from communities, which could even lead to social isolation and a lack of many interpersonal
skills. Secondly, literacy skills of many people could also be negatively affected due to the lack of social
interaction and ways to transmit formal messages. It is true that most individuals, especially teenagers,
often use informal language with several emoticons when communicating on social networking.

Consequently, their ability to read and write in situations that require formality is greatly reduced.

In conclusion, although social media has brought some benefits for society, the drawbacks of overusing

such advanced technology to replace real-life communication is much more significant.
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Vocabulary highlights:

1. Direct contact = face to face contact: lién lac tryc ti€p

2. Virtual communication exchange: trao d&i théng tin qua mang

3. Substituting their real-life relations with digital communication: thay thé mai lién hé ngoai doi
bang giao ti€p trén mang

4. Alienate people from communitties: xa lanh con ngudi khoi xa hoi
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